Chapter 1

Solutions to Exercises



Chapter 2

Solutions to Exercises

EXERCISE 2.1. 1. Let r(t) = \/r2 + (vt)2 + 2rouvt cos(¢). Then,
3?[04(9, W, f)exp{j2nf(1 —r(t)/c)}]
r(t) '

Moreover, if we assume that ro > vt, then we get that r(t) =~ ro + vt cos(¢).
Thus, the doppler shift is fvcos(¢)/c.

E(f,t,r(t),0,9)) =

2. Let (z,vy, z) be the position of the mobile in Cartesian coordinates, and (r,,0)
the position in polar coordinates. Then

(x,y,z) = (rsinfcost,rsinfsiny,rcosb)

(r,,0) = (ng + y2 + 22 arctan(y/x), arccos(z// 2% + y% + 22))
Lo Ty — Ty
v = 22 4+ y2
i - _ Zr —2r

1—(z/r)?

We see that ¢ is small for large 22 +y2. Also 6 is small for |z/r| < 1 and r large.
If [r/z] = 1 then @ = 0 or # = 7 and v <= r|f| so v/r large assures that 6 is
small. If 7 is not very large then the variation of § and 1 may not be negligible
within the time scale of interest even for moderate speeds v. Here large depends
on the time scale of interest.

EXERCISE 2.2.

acos2rf (t —r(t)/c)] 2ald—r(t)]cos2nf (t —r(t)/c)]

E\(f.t) = 20— ) * r(t)2d = r(#)]
_acos 2af (¢ + (r(t) — 2d)/c)]
2d — r(t)
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2acsin 27 f (t — d/c)]sin 27 f (r(t) — d) /] N 2ac[d —r(t)] cos[2mf (t — r(t)/c)]
2d — r(t) r(t)[2d —r(t)]
(2.1)

where we applied the identity

. (x—I—y) . (y—x)
CcoOsT — cosy = 2sin — sin 5

We observe that the first term of (2.1) is similar in form to equation (2.13) in the
notes. The second term of (2.1) goes to 0 as r(t) — d and is due to the difference in
propagation losses in the 2 paths.

EXERCISE 2.3. If the wall is on the other side, both components arrive at the mobile
from the left and experience the same Doppler shift.
Rlovexp{j2r[f(1 —v/c)t — fro/c]}] Rlaexp{j2r[f(1 —v/c)t — f(ro +2d)/c]}]

E,(f,t) = _
) E— ro + 2d + vt

We have the interaction of 2 sinusoidal waves of the same frequency and different
amplitude.

Over time, we observe the composition of these 2 waves into a single sinusoidal
signal of frequency f(1—wv/c) and constant amplitude that depends on the attenuations
(ro + vt) and (r¢ + 2d + vt) and also on the phase difference f2d/c.

Over frequency, we observe that when f2d/c is an integer both waves interfere
destructively resulting in a small received signal. When f2d/c = (2k +1)/2,k € Z
these waves interfere constructively resulting in a larger received signal. So when f
is varied by c¢/4d the amplitude of the received signal varies from a minimum to a
maximum.

The variation over frequency is similar in nature to that of section 2.1.3, but since
the delay spread is different the coherence bandwidth is also different.

However there is no variation over time because the Doppler spread is zero.

EXERCISE 2.4. 1. i) With the given information we can compute the Doppler spread:

v
D,=1fi — fo| = f7|00801 — cos by

from which we can compute the coherence time

1 c
4D, 4fv|cosf; — cos by

1. =

ii) There is not enough information to compute the coherence bandwidth, as it
depends on the delay spread which is not given. We would need to know the

difference in path length to compute the delay spread T, and use it to compute
W..
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2. From part 1 we see that a larger angular range results in larger delay spread and
smaller coherence time. Then, in the richly scattered environment the channel
would show a smaller coherence time than in the environment where the reflectors
are clustered in a small angular range.

EXERCISE 2.5. 1.

(hs_hr)2

1 = 12+ (hy—h)2=r\/1+4 (hy — h,) /7“2%7“(1—1——22 )
”

hs + h,)?

ry = /12 + (hs+ h.)2 =ry/1+ (hs +hT)2/r2mr(1+—( 5;20)
,

(hs + hr) — (hs — hr) B h? + hf + 2hsh, — hz — hf + 2hsh,
2r a 2r

ro —1r1 =

2hsh,

r

Therefore b = 2h h,.

2.
E(f1) ~ Re|alexp{j2n(ft — frl/cgl] —exp{j2n(ft — fra/c)]]
_ Relofexp{j2n(ft — fri/c)][l — exp(j2mf(r1 —r2)/c)]
_ Relofexp{j2n(ft - fry/e)|[1 - expl(i2nf o b/r)
- Re|alexp{j2n(ft — fri/o)][1 — (1 — 527 f/cx b/r)]
= 2P exp( o explion( 1 frafel]
= —%L&‘b sin[2w(ft — fri/c) + Za]]
Therefore 5 = 2x f|a|b/c.
3.

1 1 1 1 To —T1 1 b
ro  ri4(ro—ry)  r[l4+(ro—mr)/r1] 1 el re

Therefore if we don’t make the approximation of b) we get another term in
the expansion that decays as r—3. This term is negligible for large enough r as
compared to 3/r?.
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r2

EXERCISE 2.6. 1. Let fy be the probability density of the distance from the origin
at which the photon is absorbed by exactly the 2nd obstacle that it hits. Let =
be the location of the first obstacle, then

fa(r) = P {photon absorbed by 2nd obstacle at r}
= / P {absorbed by 2nd obstacle at r | not absorbed by 1st obstacle at x}

xT

x P {not absorbed by 1st obstacle at z} dz

Since the obstacle are distributed according to poisson process which has mem-
oryless distances between consecutive points, the first term inside the integral is
fi(r — x). The second term is the probability that the first obstacle is at z and
the photon is not absorbed by it. Thus, it is given by (1 — )g(z). Thus,

hr) = /m (1 = a(@) fulr — x)de

T=—00

2. Similarly, we observe that fi.1(r) is given by

fraa(r) = /P{absorbed by (k + 1)th obst at r | not absorbed by 1st obst at x}

x

x P {not absorbed by 1st obstacle at } dx

- /m (1~ 7)) fulr — 2)da (2.2)

=—00

3. Summing up (2.2) for k£ =1 to oo, we get:

> fulr) = /OO (1—7)q() (ka(r—l’)>da:

=—00
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Thus,
f0)-5i0) = [ (= a@f(r - o),
or equivalently,

fr) = alr) + /Oo (1= ale)f(r — 2)de (2.3)

4. Using (2.3), we get that

Flw) = (1-7)Qw)+ F(w)Q(w), (2.4)

where F' and () denote the Fourier transform of f and ¢ respectively. Since the
q(z) is known explicitly, its Fourier transform can be directly calculated and it
turns out to be:

7
Substituting thin in (2.4), we get
2
I
Flw) = —T
((,U) 7772 + w2

Thus, F' is of the same form as @), except for a different parameter . Thus,

fr) = @e—ﬁm

5. Without any loss of generality we can assume that r is positive, then power
density at r is given by

/ f(z)dx :/ @e‘ﬁmda@

_ le_ﬁnr.

A similar calculation for a negative r gives power density at distance r to be

e_ﬁn‘rl
2 .

EXERCISE 2.7.
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EXERCISE 2.8. The block diagram for the (unmodified) system is:
w(t)

- Jﬁ =y t:/kTH B,

A ——lo() %T R[] —n(t) b T

\/§ej27rfct \/iefj%rfct
1. Which filter should one redesign?

One should redesign the filter at the transmitter. Modifying the filter at the receiver
may cause {0(t — kT)}, no longer to be an orthonormal set, resulting in noise on the
samples not to be i.i.d. By leaving {0(t — kT") }; at the receiver as an orthonormal set,
we are assured the the noise on the samples is i.i.d.

Let the modified filter be g(t). The block diagram for the modified system is:

w(t)
A —Ig(0)] %T R[] ) HJ; oo} B
V2eim et 2ei2mfet

(Solution to Part 3: Figure of the various filters at passband).

We want to find g(t) such that there is no ISI between samples. Before we continue
to find g(t), we depict the desired simplified block diagram for the system with no IST:
A ——P—— By

>
S

Wk
For ease of manipulation, we transform the passband representation of the system
to a baseband representation
w(t)

Ay —=g(t) ’—> ha(t) }—>£*> 0(—t) %t:/kTH By,

_ww
where H,(f) = { ()H(f o) ft}[ler\%visé |

H(f) is assumed bandlimited between [f. — %, f. + %]

We let g(t) = >, gx0(t — kT), and redraw the block diagram:



Tse and Viswanath: Fundamentals of Wireless Communication 8

w(t)

t=kT
A AT} —400) |0 |00 B,
We now convert the signals and filters from the continuous to discrete time domain:
Wi

Ay ——{I . i B

where hy = 0 % hy % 0_|,_r.

We justify interchanging the order of w(t) and 6(—t), since we know the noise on
the samples is i.i.d.

G(z) = H'(2) gives the desired result.

In summary, g(t) = ., gx0(t — kT') where g; is given by G(2) = H~'(z), and H(2)
is given by the Z-Transform of iLk =0 x hy * 0_|—xr

EXERCISE 2.9. Part 1)

x10* hik, 1]| for W=10KHz
. . .

25F H

Ik, 1|

0.5- [ |

0 I I I I I I
-20 -15 -10 -5 0 5 10 15 20

Figure 2.1: Magnitude of taps, W = 10kHz, time = 1 sec. Two paths are completely
lumped together
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4 hik, 11| for W=100KHz
. . .

35

Ihtk, 1]

Figure 2.2: Magnitude of taps, W = 100kHz, time = 1 sec. Two paths are starting to
become resolved.

x 10"

h[k,1]| for W=1MHz
T

[k, 1]

-20 -15 -10 -5 0 5 10 15 20

Figure 2.3: Magnitude of taps, W = 1MHz, time = 1 sec. T'wo paths are more resolved.
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%10 Ih[k,1]| for W=3MHz
T

|k, 1]

0 I I I I I I I
0 5 10 15 20 25 30 35 40

Figure 2.4: Magnitude of taps, W = 3MHz, time = 1 sec. Two paths are clearly
resolved.
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Part 2) We see that the time variations have the same frequency in both cases
(flat fading in Figure 2.5 and frequency selective fading in Figure 2.7), but are much
more pronounced in the case of flat fading. This is because in frequency selective
fading (large W) each of the signal paths corresponds to a different tap, so they don’t
interfere significantly and the taps have small fluctuations. On the other hand in the
case of flat fading, we sample the channel impulse response with low resolution and
all the signal paths are lumped into the same tap. They interfere constructively and
destructively generating large fluctuations in the tap values. If the model included
more signal paths, then the number of paths contributing significantly to each tap
would vary as a function of the bandwidth W so the frequency of the tap variations
would depend on the bandwidth, smaller bandwidth corresponding to larger Doppler
spread and faster fluctuations (smaller 7,). Finally we could analyze this effect in the
frequency domain. In frequency selective fading, the channel frequency response varies
within the bandwidth of interest. There is an averaging effect and the resulting signal
is never faded too much. This is an example of diversity over frequency.

EXERCISE 2.10. Consider the environment in Figure 2.9.

The shorter paths (dotted lines) contribute to the first tap and the longer paths
(dashed) contribute to the second tap. Then the delay spread for the first tap is given
by:

(%
f?| cos ¢ — €08 P,

and the delay spread for the second tap is given by:
&] cos 0 — cos bs].
c

By appropriately choosing 61,05, ¢1 and ¢, we can construct examples where the
doppler spreads for both the taps are same or different.

EXERCISE 2.11. Let H(f) =1 for |f| < W/2 and 0 otherwise. Then if h(t) <> H(f) it
follows that h(t) = Wsinc(Wt). Then we can write:

R{w[m|} = {[w(t)x/icos(?wfct)] x h(t) |t:m/W}
= [/OO w(T)V2W cos(2m fo7)sinc(W (t — T))d7:|

00 t=m/W

= /_OO w(T)V2W cos(2n f.7)sinc(m — Wr)dr

o0

= [ wtr)matrr

o0
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x 10" |h[0,m]| for W=10KHz
12 T T T

1 1 1 1 1
0 20 40 60 80 100 120 140 160 180 200
m

Figure 2.5: Flat fading: time variation of magnitude of 1 tap. (x-axis is the time index

phase(h[0,m]) for W=10KHz
0 T T T

phase(h[0,m])

_7 L L L L L L L L L
0 20 40 60 80 100 120 140 160 180 200

m

Figure 2.6: Flat fading: time variation of phase of 1 tap. (x-axis is the time index m).
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x 10 |h[5,m]| for W=1MHz
7 T T

6.9

6.8

6.7

(5, mi|

6.6

6.4

6.3 I I I I I I I I I
0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2

Figure 2.7: Frequency selective fading: time variation of magnitude of 1 tap. Note:
scale of y-axis is much finer here than in the flat fading case. (x-axis displays time
with units of seconds. x-axis label of time index 'm’ is a typo. Should be ’time.’)

phase(h[5,m]) for W=1MHz
0 T T T

phase(h[5,m])

x 10"

Figure 2.8: Frequency selective fading: time variation of phase of 1 tap. (x-axis displays
time with units of seconds. x-axis label of time index 'm’ is a typo. Should be ’time.’

)
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P

Rx
Tx

T
Figure 2.9: Location of reflectors, transmitter and receiver

where V,1(7) = V2W cos(2r f.7)sinc(m — Wr).
Similarly,

Swlm]} = —{[w(t)ﬁsin(?wfct)]*h(t) h:m/W}
_ [ /_ ()W sin(2r f7)sine(W (1 — T))df]

oo t=m/W

_ / " w(r)VAW sin(2n . 7)sine(m — Wr)dr

o0

— [ wnatrlds

where ,,2(7) = —v/2W sin (27 f.7)sinc(m — Wr).

EXERCISE 2.12. 1) Let 6,(t) denote 8(t — nT).

Show that if the waveforms {6,,(¢)}, form an orthogonal set, then the waveforms
{¥n1,Vn,2}n also form an orthogonal set, provided 6(t) is band-limited to [—f., fe|.
Yn1,Yn, 2 are defined as

wn,1<t) = Qn(t)COS27cht (25>
Yna(t) = 6,(t)sin2nft

By definition {6,,(¢)}, forms an orthogonal set

= [T 05(t)0,(t)dt = ad[m —n] for some a € R
— [ 0:(f)On(f)df =adlm—n] for some a € R, by Parseval’s Theorem(2.6)

where ©,,(f) is the Fourier Transform of 6,,(¢).
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We would like to show
1) <ni(t),Yma(t) > x o[m—n] VmmneZ
waveforms modulated by cos 27 f.t remain orthogonal to each other
2) <o), Ym2(t) > x dm—n] VmmneZ
waveforms modulated by sin 27 f.t remain orthogonal to each other
3) <VUni(t),Yma(t)> = 0 VmnelZ
waveforms modulated by cos2nf.t are orthog. to waveforms modulated by

sin 27 f.t.
We will show these three cases individually:
Case 1)
U mal) > = [ 00U
= / U (f)Vm 1 (f)df by Parseval’s (2.7)
where

Voi(f) = /OO Y (t)e 72t

_ / Ou(t) cos(27 fut)e 92Tt from (2.5)

= 0.(f) * (0(F — fo) + 507 + 1)

1

Substituting into (3)

-1/ TO0 — 1) L O+ SOl — 1)+ Oulf + £Ndf

4 —00
= 1 [ O 1B~ £+ O~ £)8(T + S+

=0

-~

=0

The second and third terms equal zero since 6(t) is bandlimited to [— f,, f.| resulting
in no overlap in the region of support of O(f + f.) and O(f — f.), as seen in Figure
2.10(b).

= i/_oo OL(f = fo)Om(f = fo) + OL(f + f)Ou(f + fo)df
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_ 1 / 0 (HOn(f) + O (FOn(Fdf

since integrals from —oo to oo are invariant to shifts of the integrand along the x-axis.

1

- 2/ ewnenn

= gd[m — nJ, by equation (2.6) (2.8)
x d[m —n]

Case 2)
< ¢n,2(t)7¢m,2(t) >

= /_ wz,z(t)wm,z(t)dt

= / U o (f) Vo o f)df by Parseval’s

—00

= /_oo (%)*[@Z(f —fo) = OL(f + fc)](zij)[@m(f — fe) = Om(f + fo)ldf

= i/ O,(f = f)Ou(f = fo) = O,(f = [)Om(f + fo) +

g

=0

— O (f + f)Om(f = fo) +OL(f + fe)Om(f + fo)df

'

=0

IS,

|

/ T 0:(1)On(f) + O5(N)Ou(F)df

—_

-1 /_OO 0% (£)Ou(f)df

= %5[m —nJ, by equation (2.6) (2.9)

W

x d&[m —n]

Case 3)
< 1/%,1(?5)7 wm,2<t> >

= [

= / U (f) W, 2(f)df by Parseval’s
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- ) [ TO — 1) L Ot L NOnf — £) — Oulf + fNdf

47" ) -
1. [~ \
- ()] e - penls -1 - QA = 1S+ )
S m@*<0— JOu(f — f.)— O3(f + )0 )d
- 4—]./00 (F O] — ) — O5(f + )OS + L)
1 o * *
- () / OLNOw ()~ OO
=0 VmneZ

For 1(t) to be orthonormal, set § = 1 in (2.8) and (2.9), which implies a = 2. We
should scale 6,,(t) by v/2.

Part 2) 0(t) = 4f.sinc(4f.t) is an example A(t) that is not band-limited to [—f., f.].
See Figure 2.10(c). For this example, there will be an overlap in the region of support
of O(f + f.) and O(f — f.). See Figure 2.10(d). The cross terms O* (f — £.)Oum(f + f.)
and ©%(f + f.)Oum(f — f.) will no longer = 0 and {41, % 2}n will no longer by or-
thogonal.

2 take away messages:

1) The orthogonality property of a set of waveforms is unchanged if the waveforms
experience a frequency shift, or in other words are multiplied by e/?7/et,

2) WGN projected onto {1y, 1,1y, 2}, will yield i.i.d. gaussian noise samples.

EXERCISE 2.13. Let F[-] denote the Fourier transform operator, * denote convolution,
u(+) the unit step function and

1/j if f>0
H(f)={ 0 if f=0
~1/j if f<0
with h(t) <> H(f). Then we can write:
Sys(t)e*™] = Qij[yb(t)emfct = ()™ )] = Q%.F_I[Yb(f —fo) =Y (=f = [l
= R - YD) = E O] = S0« b
V2
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—fc fc freq

(a) Frequency range of O(f) band-limited
from _fw f(:

—2fc —fc fc 2fc freq

(b) Frequency range of ©(f+ fc¢) and ©(f —
fe). Notice no overlap in region of support.

—2fc 2fc freq

(¢) Frequency range of O(f) not band-
limited from —f., fe.

18
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= S ()Rt — ()T ()
= 3wl = ) g~ () O
_, % S et = 7)) it — (1)) 2O

= Y {a®)Saplt — 7i(t))e O]

7

= g { [Z a;(t)zy(t — Ti(t))e_j%fcn(t)] eﬂﬂfct}

i

The equality (a) follows because the first term between the braces is zero for neg-
ative frequencies and the second term is zero for positive frequencies.

Yes. Both equations together allow to equate the complex arguments of the ® and
& operators, thus allowing to obtain the baseband equivalent of the impulse response
of the channel.

EXERCISE 2.14.
EXERCISE 2.15. Effects that make the tap gains vary with time:

e Doppler shifts and Doppler spread: D = f.7/(t), T. ~ 1/D = 1/(f.7/(t)) The
coherence time is determined by the Doppler spread of the paths that contribute
to a given tap. As W increases the paths are sampled at higher resolution and
fewer paths contribute to each tap. Therefore the Doppler spread decreases for
increasing W and its influence on the variation of the tap gains decreases.

e Variation of {a;(¢)}; with time. a;(¢) changes slowly, with a time scale of varia-
tion much larger than the other effects discussed. However as W increases and
it becomes comparable to f. assuming that a single gain affects the correspond-
ing path equally across all frequencies may not be a good approximation. The
reflection coefficient of the scatterers may be frequency dependent and for very
large bandwidths we need to change the model.

e Movement of paths from tap to tap. 7;(t) changes with ¢ and the corresponding
path moves from one tap to another. As W increases fewer paths contribute to
each tap and the tap gains change significantly when a path moves from tap to
tap. A path moves from tap to tap when A7;(£)W =1 or Ar;(t)/At-W = 1/At.
So this effect takes place in a time scale of At ~ 1/(W/(t)). As W increases
this effect starts taking place in a small time scale and it becomes the dominant
cause of time variation in the channel tap gains.
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The third effect dominates when At < T, or equivalently when W > f..

EXERCISE 2.16.

N
Z a;(m/W)e 72 it/ Wgine (0 — 7;(m/W)W)
i=1

Let 7= 5 LS 7(0) and Ary(m/W) = 7;(m/W) — 7. Then,

=

hefm] = e jz”chZ (m)W)e 32 ebrim/Wigine (¢ — FW — A1 (m/W)W)

Often in practice f.7 ~ f.r/c >> 1! so0 it is a reasonable assumption to model
e 2meT = ¢73% where 0 ~ Uniform|0,27] and 6 is independent of everything else.
Note that 7 does not depend on m so a particular realization of € is the same for all
components of h. Since e™/? has uniformly distributed phase, its distribution does not
change if we introduce an arbitrary phase shift ¢. So e/®e™7¢ ~ ¢=99.

It follows that

SV ai(m) W )e 2T/ Wsing (0 — FW — Ay (m/W)W)
ion bt SV ai((m 4 1) /W )e 2rfeAm (i) Wgine (¢ — W — Azy((m + 1) /W)W)
e = % :
SOV ai((m A+ n) W )ed2mleAT(tntn) Wgine (0 — FW — Azy((m +n)/W)W)
SOV ai(m /W )e P2 AT Wsine (¢ — FW — Ay (m/W)W)

R SV ai((m A+ 1) /W )em 2 feAm(mt D/ Wgine (0 — FW — Ary((m + 1) /W)W)
Zf\il ai((m +n) /W )e 22 felnil(mtn)/Wgine (¢ — FW — Ary((m +n)/W)W)

Since this is true for all ¢, under the previous assumptions h is circularly symmetric.

EXERCISE 2.17. 1. h(7,t) is the response of the channel to an impulse that occurs
at time t — 7, i.e.,, §(t — (t — 7)). Replacing z(t) by d(t — (¢t — 7)) in the given
expression we obtain:

T

h(r,t) = O(T — 79, (t)).

\/_
The projection of the velocity vector v onto the direction of the path at angle 6
has a magnitude:

gM

vg = |v]|cosb.

Ir is the distance between transmit and receive antennas
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The distance travelled by the mobile in the direction 6 in time ¢ is vgt, which is
the reduction in the distance between transmitter and receiver for the path of

angle 6. Then,

v]cosf -t
Tg(t) = 7',9(0) — Hf

2. T; < 1/W means that most of the paths arrive in an interval much smaller than
the sample time of the signal. Since the signal remains approximately constant
over the interval Ty, it can be pulled out from the summation in part (a). In this
way we can lump together the influence of all the paths into a single tap hg[m].

We assume that dp(t) < 1/W, For this we assume that do(0) = 0 and dy(¢t) <
1/W for the time scale of interest. Thus,

2w
ho[m| = / age P2 oM Wgine[—7y(m /W) - W1d6,
0

where we use the fact that ay(t) = ag, Vt. Finally we note that
ltlzn(r)l sinc(t) =1

and since 7p(m/W) - W <« 1 we obtain:

2
ho[m] :/ age 32 erom/W)gg.
0

3. The independence assumption requires that different paths come from difference
scatters. For this to be true even for small variations in angle of arrival 6, it
is necessary that the scatters be located far away from the receiver. How far
depends on the size of the scatters, and the angle difference Af over which we
require the paths to be independent. The identically distributed assumption
requires that the lengths of the paths from transmitter to receiver be comparable
for all angle . This occurs when r < R in the following figure.

4. The stationarity of ho[m] can be seen from previous formula and the uniformity
of the phase. To calculate Ry[n],

2 2
Raln) = B[ [ g a0, im0 04 0 g,
0 0
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2 27
o A e )
0 0 '
2 )
_ / E[|a0|2]€—327rfc(%cos@)dg'

0

Ry[n] = /_OO S(f)er*mIndqf

o0

D, /2W
B / 4a*W/(Do\/1 — (2fW/D,)?)e*™ " df
—Dy/2W

_ /7r 2a26j7mDs cos(@)/WdQ’
0

where we use the substitution cos(f) = 2fW/Ds;.
6. From the definition of PSD.

EXERCISE 2.18. 1. The key difference is that in Clarke’s model, the attenuations
of the signals are random and have the same distribution in all directions from
the receiver, whereas in the present model, they are deterministic and direction
dependent. The key similarity is that in both cases, the phases are i.i.d. in all
directions.

2. The delay spread T, is (4 —2) km /¢ = 6.7us. Therefore the channel is flat if
W < 1/T; = 150 kHz.

3. We assume that only paths that arrive with delay in [¢/W — 1/(2W), (/W +
1/(2W)] contribute to tap £. Let 6 be the angle the path makes with the line
between the transmitter and the receiver at the receiver. The paths that arrive
with the desired delay lie in between angles ¢#; and 6y and between —6; and —6s,

where 61, 65 are such that the delay of the path is £/W £+ 1(2W), i.e.,
L+7r(0) = c({/W—1/(2W))
L+7(6y) = c(l/W+1/(2W))

where r(6) = /5 —4cosf is the distance between the Tx and the scatterer at
the angle 6.

The total power received is

do (2.10)
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4. The received power in the delay range [, 7 + d7] is
2G/(5 — 4 cos0)|dl|

where cosf = [5— (¢t —1)?]/4 and sin df = —c(ct —1)/2d7. Hence, the received
power is

cG
5—(cT—1)2
(er = 1)y /1 = (22
for cr between 2 and 4. This gives the power-delay profile.

5. The Doppler shift at angle 6 is vcosf/\, where A = ¢/f.. Thus the Doppler
spread for the tap /¢ is
+fov/c| cos by — cos by

The power of the received signal in the range of Doppler shifts [f, f + df] is
2G/(5 — 4 cos0)|dl|

where cosf = A/v - f and sin0df = \/vdf. Hence the Doppler spectrum is
2G\ /v

(5—4Nf/v)\ /1= (Af/v)®

The Doppler spectrum of tap ¢ picks off a section of this corresponding to the
range of Doppler shifts for the paths that contribute to this tap.

S(f) =

6. No, since the location of the scatterers should determine exactly the phase of the
arriving path, so there cannot be any randomness of the phase once the location
of the scatterers is fixed.

On the other hand, the phase varies rapidly as a function of the scatterer positions
at a spatial scale of the order of A (cm’s) while the large scale path loss and delay
varies at the scale of kilometers. So what our assumptions are saying is that
we are assuming that the scatters are ”approximately” 1 km from the receiver,
where the approximation is accurate up to the order of \’s . The randomness at
the small scale validates the random phase assumption.

EXERCISE 2.19. 1.

_ v
fm =2
D _ o _ 2k
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TC fr i g ¢
4D  8uf.

b) The antennas should be spaced at least by d = vT, = ¢/(8f.) to get indepen-
denlty faded signals.

2. The signal arriving at the base station antenna from an angle « relative to the
direction of v’ experiences a Doppler shift

V' fecos(a)

fa=

C

a ranges from m—arctan(R/d) to m+arctan(R/d). The Doppler shift is maximum
for « = 7 and minimum for a = 7 — arctan(R/d) or a« = 7 + arctan(R/d).
Therefore the Doppler spread is

_ V' fe[1 — cos(arctan(R/d))] _ v’ f.2[sin(arctan(R/d)/2)]?

D

and the corresponding 7.:

T, = ! = -
©T 4D v'f8[sin(arctan(R/d)/2)]?

3. The minimum base station antenna spacing for uncorrelated fading is d = v'T, =
c/(f.8[sin(arctan(R/d)/2)]?). In practice the base station antenna is located in
a high tower with no obstructions in its vicinity, so most of the scattering takes
place around the mobile. In this case we can assume R << d and approximate
sin(arctan(R/d)/2) ~ R/2d to get d = (cd?)/(2f.R?). In this particular setting
this means that the minimum antenna spacing at the base station must be in the
order of d?/R? larger than that at the mobile to get independently faded signals.



Chapter 3

Solutions to Exercises

EXERCISE 3.1. We have

P

where the third step follows from changing the order of integration.

SNR, we also have

which implies

Q(V2IP[*SNR )]

—t2/2
e dtdx,
/ V2zSNR V2T

oo [t2/(2SNR) as9
— e e  dxdt,
V2T / /

—t2/2 —t2/(25NR))dt

g

7w ),

- /" SNR
14+SNR/’

6—t2(1+1/SNR)/2dt7

N | —

SNR 1

~

B PR T
1+ SNR 2SNR’

1
Fe = 4SNR

(3.1)
(3.2)

(3.3)
(3.4)

(3.5)

(3.6)

Now, for large

EXERCISE 3.2. 1. Let p = SNR. For Rayleigh fading |h[0]|*> ~ Ezp(1) so we have:

P = E[ <\/2|h7 / /W\/_ e~ 22 dtdy

25
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/OO /t2/(2/’) —— L e 2/(2)
= ——e e dadt = / ——e [1 —e” P } dt
o Jo V2T 0o V2w

— 1 1— L/OO ﬂefé(lﬂ/p)dt :1 1 — 1
2 1+p ) oV 2mp 2 1+1/p

We can approximate y/1/(1+x) =1—x/2+ o(z) for x — 0 . Then,

P, = % {1 -1+ %% —|—0(1/p)} = 4%0 +0o(1/p)

and ]
lim P.p=—
im P,p 1

p—00

2. We will need the following result:

%0 o oo o o, o 42, 1
Q(Vy)dy = / / e Pdtdy = / / ——e P dydt = / ——e 24t = =
/0 \/_) 0 NG} vV 2w 0 0 \V 2w 0 vV 2T 2

Let f(-) be the pdf of |h[0]|>. Then,

P.= £ [Q (vVaRlFs)] = [ Q(/Emswis

Assuming that f(-) is right continuous at 0, that f(0) > 0 and that f(-) is
bounded (this last condtion enables us to use the bounded convergence theorem
to exchange limit and integral):

o0

lim Pp = lm [ Q(v/2ep)f(e)pde = i [ QU5 (ﬁ) Lay

p—00 p—oo [ pP—2 Jo 20 2

- P [ awman =10

3. Let go(+) be the pdf of |h[¢]|?, and assume that it is right continuous and strictly
positive at 0, for £ = 1,..., L. Let fo(-) be the pdf of St |h[i]|>. Then using
the fact that the pdf of the sum of independent random variables equals the
convolution of the corresponding pdfs we can write for x — 0:

folz) = / " gu(8)ga(e — 1)t = 1(0)g(0)z + o(2)

Him, g o(z)/z =0
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fale) = / " fot)gala — t)dt = / [01(0)g2(0)t + o(#)ga(x — )t = g1(0)g2(0)ga(0)

1'2

2

fuz) = /fL1 )gr(z —t)dt = /x[<ng > L_Q)'—FO(tL_Q)] gr(z —t)dt

L1
= (H gg(0)> Lx o o(zEY) = Bal=1 + o(xl )
=1 (Z-1)!
where we defined 3 = [[]1_, 9¢(0)]/(L — 1)!. The probability of error is given by:

P.= (o (vamlPr)| = [ atvzm) fula)ds

Multiplying by p*, taking limit for p — oo and assuming that we can exchange
the order of limits and integrals we have:

o0 (e 9]

lim P.p* = lim Q(\/2zp)p* fr(x)dx = lim QY fL (%) %dy

p—0o0 p—0 Jo p—o fq

. fL(Qy—p) )L /Q o

= lim Q(\/@)—_ > 5) 3%

p—oo Jy lLl
2p

_ ﬁ/oo/oo 1 €_t2/2yL_1dtdy:£/oo/t 1 e_tz/zyL—ldydt
2L 0 \/y \/27‘(’ 2L 0 0 \/27‘(‘

B <1 e_t2/2dt: g1 Oo 2L 1 —t /th

\/_

= | — t
2L 0 L \/271' 2 2L —00
3 1 (2L)! oL -1\ 1 ¢
= yantor =\ 1 ) alle®

/=1

. The K parameter of a Ricean distribution is defined as the ratio of the powers in
the specular (or constant) component and the fading component. If the specular
component has amplitude g and the fading component is CN(0,0?) and we
normalize the total power to be 1 we obtain:

1:M2+02:g2(K+1): = /KLH UQZK;H

‘ 2

For Ricean fading with parameter K the pdf of |h[¢]|* is given by (see Proakis

(2.1-140)):

fy) = (K + De- (@0 [ yRE 1)y > 0

+ o(z?
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which evaluated at y = 0 yields f(0) = (K + 1)e ¥,
Using the result from part (3) we get:

2L — 1\ (K +1)ke tK
L 4L

lim P,p* =

p—00

As K — oo the expression above decays exponentially in K and the Ricean
channel converges to the AWGN channel.

EXERCISE 3.3. Since |h|? is exponential, for large SNR, we have
P(E,) ~ SNR™ (79,

Therefore
log P(Ee)
im ——
SNR—oo log SNR

—(1—¢).

Similarly,

log P(E_,)

SNR o logSNR —(1+e).

1. By conditioning on E., probability of error can be written as:
P. = P(error|E.)P(E.) + P(error| ES)P(EY).

Now, the for the second term, we see that |h|>)SNR > SNR® whenever E° happens.
Thus, because of the exponential tail of the () function, the second term goes
to zero exponentially fast and does not contribute to the limit. Also, upper
bounding P(error|E) by 1, we get

I log P, - i logP(E.)
SNR o logSNR  — SNR o log SNR ’
= —(1—e).

2. Now, similarly conditioning on E_., we get

P. = P(error|E_.)P(E_) + P(error| ES )P(E<,),
> P(error| E_)P(E_.).
Now, we see that |2|?*SNR < SNR™ whenever E_, happens. Thus, the probability

of error then can be lower bounded by a nonzero constant (e.g. Q(1)). Thus, we
get

log P, 1 1 log(P(E.
b 0P 0s(Q() + log(P(E))
SNR—oo log SNR SNR— o0 log SNR
= —(1+e).
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3. Combining the last two part, we get

. log P
SNR oo log SNR

EXERCISE 3.4. To keep the same probability of error, the separation between consec-
utive points should be the same for both PAM and QAM. Let this separation be 2a.
Then, the average energy for a PAM with 2¥ points is given by:

2k—1

1
En(2°=PAM) = = (2i—1)%
i=1
2
= -

Since a 2 QAM can be thought as two independent 2%/2 PAMs, we get that the average
energy for a QAM with 2% points is:

E.(2F — QAM) = 2E,, (28?2 — PAM),
2a?

Thus, the loss in energy is given by:
2F 1
10log ( ;_ ) )

EXERCISE 3.5. Consider the following scheme which works for both BPSK and QPSK.
We have

which grows linearly in k.

ylm] = hxz[m — 1ulm] + w[m],
ym—1 = hzx[m— 1]+ w[m —1].

Substituting the value of ha[m — 1] from the second equation into the first, we get

ylml = ylm = Hum] +wlm] — u[mjw[m —1],
ylm] = hulm] + w[m].
Where w[m] is CN(0,2Np) and is independent of the input (because of symmetry of

w[m — 1]). The effective channel A is CA(0,a? + Ny) and is known at the receiver.
Thus, the performance is same as the performance on a coherent channel with signal
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to noise ratio given by (SNR + 1)/2. Thus, the probability of error for BPSK is given

by

1
2(1+SNR)’

and the probability of error for QPSK is given by:

1
(1+SNR)’

EXERCISE 3.6. 1. Let p = SNR.

_ 2 t2/2 - e
- SR [ s
= / /t/2ﬂ) et/ L e “dxdt (3.7)
(L—1)!
1

(@) —t2/2 B L= _2 k o—t%/(2p)
= 1 dt
=~ \2p k!

L-1 o

L P 1 / 1+ P ~50+1/p) g4

2| L+ p 2= K2 )\ 2mp

® 1 /

2 3.8
2 1+pzk'2p <1+p> k:'2’“] (38)
LT 2% 1—u\" (1+p

et — ]_—

; ;(W(z)(z)

where = \/p/(1+ p). Also (a) follows from the equivalence between the dis-
tribution functions of the Gamma and Poisson random variables, and (b) results
from the formula for the even moments of the standard Gaussian distribution
with proper scaling.

. We start with the sufficient statistics:

rA —h[ﬁ]a:rl—wff), (=1,2,...,L
r = hllzy + 0l =12, L (3.9)

where z1 = [|z4|| and x5 = 0 if x4 is transmitted, and z; = 0 and xy = ||z || if
xp is transmitted. As in the notes assume ||z4]]* = ||z]|* = &.
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Since we are analyzing coherent reception, the receiver knows h and can further
project onto h/||h| obtaining the new sufficient statistics:

h
7:14 = —Ty = ||h||l’1 -+ UNjA
i
8 h .
rp = mrb = Hh||x2 + wp (310)

where w4 and wp are independent C'N (0, Ny) random variables. We can finally
compare R(74) and R(7p) to decide whether x4 or xp was transmitted.

Q ( 2L 4 )(}.m

Since vLh ~ CON(0,1;) if follows that the formula of part (1) still holds by
replacing p — &,/(2LNy), which results in the desired answer.

The error probability is given by:
P. = E[Pr(R{7fa} > R{rp} | x5)]

= E[Pr(®{as—p} > [0|VE)| = E

EXERCISE 3.7. 1. We have (for simplicity we denote the squared-distances as d;

and dg)
0 ( VSNRGhlPd; + |hzr2d2>)]

e_t2/2e_xe_ydtd;1:dy

]P)[JZ'A—>£CB] = Eh17h2

oo
\/0\ / //SNR(zd1+yd2)

oo p2t2/(d2SNR)  p(2t2 /SNR—doy)/d1 )
/ / / e Tdre Vdye " 2dt
0 0

oo p2t2/( dQSNR ) 5
/ / O /SNR=dy) /)y gy o~ 2 g
0

/ o202/ (d:SNR) _ o2/ diSNR —(1/da—/d1)2t2/SNRY | —2/2
_ 1— 2 —(]_ —e 27/ ) e dt,

o

- E\H sl 5
3 3 3

I
@)
+

5 / e t2/2(d16—2t2/(d15NR) . d26—21t2/(dZSNR))alt7

\/%(Cb —dy) Jo

I
o

5. 05 d B dy
~da—di \ \/1+4/(d;SNR) /1 + 4/(d2SNR)
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2. For the high SNR scenario, we get (using Taylor series)

1
1+ 4/(d>SNR)

Which implies

=1 —2/(dySNR) + 6/(SNR*d3).

Plzy — x5] = 3/(d1dSNR?).

2
EXERCISE 3.8. 1. For QPSK over an AWGN channel P, e = [1 - Q (, / %)]

SO 2
Pezl—PcorrethQQ ( %) B [Q (\/%)]

To compare the performance to that of a scheme that uses only real symbols
we fix the bit rate (2 bits per channel use) and total transmitted power. For
4-PAM with signal points located in {£b, £3b} the symbol error probability is

(see Proakis (5.2-42)):
3 2b2
P=2Q (/=

The average transmitted power is 56 so normalizing the total transmitted power
to 1 we have a = 1/\/5, b = 1/\/3 The power loss of 4-PAM over QPSK is
5/2 = 4dB.

2. The conditional probability of error of QPSK conditioned on the channel real-
ization h is:
2
2a|[h|}? 2a2[[h|[?

Py =2 [ z "
h = 2Q No Q N,

Averaging over the distribution of ||h||?, noting that the second term of the above
expression does not affect the high SNR error performance, upper bounding the
Q function as done in the lectures, and using the characteristic function of the
exponential distribution to evaluate the expectations we obtain:

Ih|2a?

2a?||h||? _ L  |n[e))2a2
P. = E[Pn] <E|2Q a]@ | SE[Qe No }ZQEE{G No }

0

1 L SNR\ *
- 2w ) —2 (1)
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where SNR = 2a?/Nj is the signal to noise ratio.

For 4-PAM we can find the conditional error probability conditioned on h using
the result of question 4.b) of homework 2 (which was derived for binary antipodal
signaling but can easily be extended for 4-PAM) and scaling appropriately by b:

3 2b2||h||?
Pon = -Q
fh 9 Ny

Taking expectation over h and bounding as before we get:

b3 1 Lo |, SR -

T 2\1+02/Ny) 2 5
Therefore we get in both cases the same diversity gain, but the SNR performance
is degraded by 4dB in the 4-PAM case.

3. Let A={a(147),a(1—j),a(=1+j),a(—1—5)}, B={x € C*: 2, € A,z € A}.
Then the transmitted symbols are in D = {Uz : x € B}, for some fixed unitary
matrix U € C*2. Let x = [z[1], z[2]]” be one of such symbols. Then the received
signal is:

yl0] = [0 + 2[0], € = 1,2

from which we can extract the sufficient statistics:

rif] = y[l) = |h[l]|z[€] + 2]¢], £ = 1,2

where z =4 z. Let v[{] = |h[{]|z[(] for £ = 1,2 be the modified symbol as seen at
the receiver.

We are interested in the pairwise error probability, that is the probability of
detecting a symbol x5 when the transmitted symbol is x;. The pairwise error
probability conditioned on the channel realization h depends only on [|v; — v, ||?
through the expression:

||V2 —V1||2

P(xl—>x2)|h = Q 2N(]

which can be rewritten and upper bounded as:

Py = @ \/ ) Plal) — ) APl = P
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(P[] P[2[1] — 21 [1)* + [A[2][*|z2[2] — 961[2]I2}
4N,

< -

Taking expectation over h and using the characteristic function of the exponential
distribution to evaluate it we obtain:

Py < E {exp {_ B[] |2[1] — x1[1]|24j+v|h[2”2|x2[2] _ 551[2”2} }
- {eXp {— |h[1“2|$1[]130_ ““”2} }OE {eXp {_ !h[2]|2|xﬁo_ xl[zﬂz} }
- [t sgee] e

|zo[1] — 1 [1][[22[2] — 21[2]|

We see that the pairwise error probability depends only on the product distance
|z2[1] — 1 [1]]?|@2[2] — 21[2]|%. The rotation matrix U should be chosen in such a
way as to maximize the minimum product distance between any pair of codewords
in the constellation D.

EXERCISE 3.9.

EXERCISE 3.10. 1. The code can be represented by a permutation of the 16-point
QAM. What is transmitted on the second subchannel can be obtained as a simple
permutation of what is transmitted on the first sub-channel.

2. Data rate = 2 bits/channel use (since all the information is contained in one of
the QAMs itself).

3. Since the product distance is non-zero, the diversity gain is 2. The minimum
product distance is given by by 64a* where 2a is the minimum distance between
the QAM symbols. Then, by normalizing the average receiver SNR to be 1 per
time symbol, we get:

2 x2x (4x20a%)/16 = 1,
a®> = 0.05.

Therefore, the product distance is given by 0.32.

4. The power used for the rotation code is 4a? per time and that of the permutation
code is 20a?, but for a fair comparison of power used, we need to normalize by
the optimal product distance of the rotation code. Numerical results indicate
that the rotation code outperforms a permutation code by a factor of 1.05.
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EXERCISE 3.11. 1.

1
P{XA — XB} S [m]d

where d is the Hamming distance between the binary codewords x4 and xz. The
diversity gain of the code is the minimum Hamming distance d,,;, between the
codewords .

2. It’s 2. Same diversity gain as the repetition code but higher rate 3/2 rather than
1/2.

3. The probability a symbol gets decoded incorrectly is of the order of SNR™'. If
[dynin/2] errors are made, then there is a significant probability (i.e., the prob-
ability does not decay with SNR) that an overall error is made, as an incorrect
codeword may be closer to ¢ than the transmitted codeword. We are ok if fewer
than that is made. Hence, the diversity gain is [dn/2].

For the example, the diversity is only 1.

4. The typical error event for each symbol is when the channel is in a deep fade. If
we declare an erasure whenever the channel is in a deep fade, then the typical
error is that there are only erasures and no hard decision errors. We can decode
whenever the number of erasures is less than d,,;,, since there is at most one
codeword that is consistent with the erasure pattern. Hence the diversity gain is
back to d,n:n, same as soft decision decoding.

How do we know the channel is in deep fade? Heuristically, when |hy|? < 1/SNR.
More rigorously, we can fix a ¢ > 0 and use the threshold |h|?> < 1/SNR'™* to
decide on an erasure. This will give us a diversity gain of d,,;,(1 — €). But we
can choose € arbitrarily close to zero so we can get close to the desired diversity
gain.

EXERCISE 3.12. 1. For repetition coding, probability of error is given by
P{\h\z < 1/SNR} )
Now, let the singular value of decomposition of Kj, be
K, = UAU™.

Now, define: h = U*h. Then |h| = |h| and h has i.i.d. complex Gaussian entries
with variance given by the singular values of Kj. Thus, the diversity order is
given by the number non-zero singular values of Kj,.
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2. We can write the time diversity channel as:

g 0 .-+ 0
= ) P . + w,
y 1, 12 L 0 0
0 0 0 =«
T 0 0
0 =z 0 0
= [hl,hg,"' ,hL]Klzl/QK}ll/Q ? i 0 +W,
0 0 0 Ty,
Now, [hy, hg, - ,hL]K;ll/2 is i.i.d. Gaussian and is similar to a standard MISO

channel. Thus the code design criterion is given by the determinant of K{:5(X 4 —
Xp)(X4 — Xp)*K). As K}, is a fixed matrix and only contributes a constant
we can eliminate it from the code design criterion. Now, in our case X4 and
Xp are restricted to be diagonal which implies that the difference determinant
is the the product distance. Thus, the criterion remains unchanged. Note, that
here we have assumed Ky, is full rank. Otherwise, one will have to work with the
corresponding reduced problem by ignoring some of the A;s.

3. As seen in the previous part, the criterion remains unchanged.

EXERCISE 3.13. The channel equation is y = hz + w. Let [ = argmax; |h[i]|. The
selection combiner bases its decision on the [ branch only discarding the rest so the
decision is based on y[¢] = h[f]x + w](].

Let {z;}, be iid. Ezp(1) random variables, and = max; ;. Then the pdf of
x, f(+), for x — 0 is given by:

fl) = L —e ) e = L1 — (1 - o +o@)]* '[1 - o + ()]
— L[L’L_l—l—O(ZL‘L_l)

Noting that |h[¢]|*> has the above pdf, we can use the derivation of Ex. 3.2, part 3)
replacing (§ with L:

, L(2L—1) (2L —1)
]_ Pe L —_ — —
P A A AL(L = 1)

We observe that this scheme still achieves a diversity gain of L but the error per-
formance degrades by the factor L/3 = L!/([], ¢:[0]) = L! with respect to that of
optimal combining.

EXERCISE 3.14.
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EXERCISE 3.15. 1. We obtain the same diversity gain over the MISO channel (as-
suming the same statistical characterization of the fading gains) as we have op-
erationally converted the MISO channel into a parallel channel. Also, since the
determinant of a diagonal matrix is the product of its diagonal elements, the
determinant metric for the MISO channel is same as the product distance metric
of the time diversity code.

2. For the rotation code the worst case pairwise error probability is given by

16

min 57;]'

SNR2,

where the optimal §;; is given by 16/5, which gives 5/SNR? as the upper bound
for the rotation code.

On the other hand, for Alamouti scheme, the worst case probability of error is

given by:

16
SNR?*det(X 4 — X )2’

If uy and uy are the BPSK (4/ — a) symbols used for the Alamouti scheme, then
the average power per time symbol is given by 2a?. The determinant is given by
u? +u3, thus the worst case determinant is given by 4a?. Thus, after normalizing
we get worst case probability of error is given by 4/SNR?. Thus, the Alamouti
scheme is better.

For QPSK symbols, we are just using an additional degree of freedom which will
change the power used for both the schemes, but the relative difference in the
worst case error performance (a factor of 1.25) remains the same.

3. See Figure 3.1.
EXERCISE 3.16. 1. We have
y = Ad+w,
Since A is orthogonal, all the a;s are orthogonal, thus for detecting d;, we can
project along a;:

aly = |la|’d; +aiw. (3.12)

Since A is orthogonal, the noise ajw is independent of other noise terms (and
hence the other projections).Thus, each of the d;s can be decoded separately.
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,A 2 Tx antennas MISO channel with i.i.d. Rayleigh fading

10

—o— Probability of error for permutationn code
—— Probability of error for the Alamouti scheme

probability of error

10" I I I I
5 10 15 20 25 30

SNRin db

Figure 3.1: The error probability of uncoded QAM with the Alamouti scheme and
that of a permutation code over one antenna at a time for the Rayleigh fading MISO
channel with two transmit antennas: the permutation code is only about 1.5 dB worse
than the Alamouti scheme over the plotted error probability range.

2. If ||lam|| = |/h||, then we can normalize the equation (3.12) and get a fading
coefficient of ||h|| which implies a full diversity gain for each symbol.

3. We have
h*X = d'A’,

which along with orthogonality and the full diversity property of A implies that

h'XX*h = [[d[f*||h|"L,
h*(XX* — ||d|2I,)h = 0,

for every h. Thus, XX* must be ||d|[*Iy.
EXERCISE 3.17.

EXERCISE 3.18. First, lets calculate the deep fade probability for Ricean fading which
we will use for calculating both diversity order and product distance criterion. Let

h = Ae? +n,
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where A is a fixed number and € is uniform in [0,27] and n is CN(0,1). Since we
are interested only in the |h|*> whose distribution does not depend on 6 (because n is

circularly symmetric), without any loss of generality, we can take = 0. Then we can
write h as

h = A +ng+ jnfa
where n = ng + jn; and ng and n; are i.i.d. Gaussian. Then

P{|h|* <1/SNR} = P{(A+ng)*+ (n;)*> <1/SNR},
~ P{(A+ng)* <1/SNR and (n;)* < 1/SNR},

e~ A4

~ VSNRVSNR'
e’A2/4

~ TSNR

1. Now, the deep fade event for a time diversity channel is when all the sub-channels
are in deep fade. The probability of which is given by

efLA2 /4
SNRY -

Thus, the diversity order does not change for Ricean fading.

2. For a pairwise code design criterion, we want to calculate

IP{Ejympd§<1/SNR} ~ [P {Ihif*d* < 1/SNR},
Z l e—LA2/4

SNRY@?d3 - - d2

Q

Thus, we get the same product distance criterion for Ricean fading as well.

EXERCISE 3.19. 1. Let H be the fading matrix for the MIMO channel. Then the
channel model can be written as:

Y = HX+W.

Now, this channel model can be rewritten as a MISO channel with block-length
n,N. Let X and h be

X 0 0
X =10 . 0of,
0 0 X
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h = [H(Q1,1) --- H(1,L) H(2,1) --- --- H(n,L)].
Then the received signal can be rewritten as
y = hf(+w,

with y and w appropriately defined in term of Y and W. Then the probability
of pairwise error can be written as:

zlo \/SNRh(XA — X};)(XA — Xp)*h*

2. Since we have reduced the MIMO problem with i.i.d. Rayleigh fading to a MISO
problem with i.i.d. Rayleigh fading, probability of pairwise error can be upper
bounded as:

Ln,
IP)(XA — XB) < — 4 ~ ~ ~ ?
SNRP™ det (X4 — X5)(Xa — Xp)°)
4" "
(SNRL det (X4 —Xp)(Xa — XB)*)) ’

where the last step follows from the diagonal structure of X 4 and X B.

3. Thus, the code design criterion of maximizing the minimum determinant remains
unchanged.

ExXERCISE 3.20. Using the same notation as in the text, and using a subindex to denote
the receive antenna (either 1 or 2) we have:

y[1] hin ho wy[1]
yi[2] hi,  —hi [ Uy } wi[2]*

- 3.13
ya[1] his  hao Usy - wo[1] ( )
ya[2]" h3y  —hi, wo[2]*

where h;; is the complex channel gain from transmit antenna ¢ to receive antenna j.
In vector notation we can rewrite (3.13) as y = Hu + w, where w ~ CN(0, Nol,).
Noting that the columns of H (which we call h;) are orthogonal, we can project the
(slightly modified) received vector y onto the normalized columns of H to obtain the

2 sufficient statistics: It
oy

T
I |
for i = 1,2, where w; ~ CN(0, Ny) independent across i, and ||h|| = ||h;|| = ||hg|| is
the effective gain.

y = [1Allu; + (3.14)
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EXERCISE 3.21. 1. For spatial multiplexing, each stream comes from a BPSK con-
stellation (+/ — a). Then, to normalize the average transmit power to 1, we get
a = +/0.5. Then, the probability of pairwise error is upper bounded as:

16
]P’(X1—>X2) < SNR2\|X1—X2H47

16

< PINTSIZAVE

SNR*(2a)
4
< .
SNR

For the Alamouti scheme, we should be using the same rate. Thus, each symbol
should come from a four point PAM (4/ — a,+/ — 3a). Then to normalize the
average transmit power we have:

1
72 (2a* +18a%) = 1,
a®> = 1/10.

Now, the probability of pair-wise error is upper bounded by:

42 2
P(X,4 — Xp) <
(Xa = Xp) < (SNRQdet((XA—XB)(XA—XB)*)) ’
44
< . 7
SNR*((u1, — u1,)? + (uz, — us,)?)?
256
< —’
~  SNR*44¢8
10000
< -
~ SNR*

For SNR > 50, Alamouti scheme outperforms the spatial multiplexing scheme.

2. For general R, the only thing that changes is the value of the minimum distance
between the points. For a 2%/2 point PAM in case of spatial multiplexing, the
minimum distance is given by:

a2 = —3
- 2(2R— 1)

Then, the probability of error is upper bounded by:

16
< )
~ SNR*(2a)*

P(x; — x2)
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4(28 —1)?
< - @ 7
~  9SNR?

For the Alamouti scheme, the minimum distance is given by:

a> = 3
C2(22R 1)
Thus, the probability of error is given by
1
P(X X <
Xa=Xp) < Gupig
B 16(22% — 1)*
~ 8ISNR!

The SNR threshold for general R turns out to be approximately 0.6623% which
increases exponentially in R.

EXERCISE 3.22. When using QAMs, the only thing that changes is the minimum
distance. For the spatial multiplexing scheme, the QAM constellation size is 2%/2.
Thus, energy for the the 2%/2 QAM is given by

202 —1
—3
Thus, to normalize the total transmit power per unit time, we get:
9 3
= ————.
4(2F/2 — 1)

2a

Then, the probability of error is upper bounded by:
1

P(x X)) < ——,
o =x) < gupeg
16(27/2 — 1)?
< - 7
- 9SNR?
For the Alamouti scheme, the minimum distance is given by:
3
2 _
TG
Thus, the probability of error is given by
1
P(X X <
Xa=Xp) < qupig
256(2F — 1)*

81SNR*
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EXERCISE 3.23. 1. Let t = min(m, k). Consider the repetition scheme in which we
transmit the same symbol over a different antenna at each time until either we
run out of antennas (in which case we can cycle again over the same antennas)
or the block of lenght k& ends. We further repeat the transmission n times over
different blocks of length k. The antennas are used one at a time.

If X is the matrix representing the transmitted codeword, with X(, j) denoting
the signal transmitted through antenna i at time j (1 <i<m, 1 <j < kn) the
codewords of the above repetition scheme are of the form:

10 --- 010 -0 - 10 ---0
o1 --- 001 -0 --- 01 ---0

X=1. . . o ) L ez
00 --- 100 -+ 1 - 00 --- 1

where x is the scalar symbol we want to transmit and for simplicity we have
assumed m = k.

From the channel model, we see that the same symbol is transmitted over ¢ - n
independent channel realizations, resulting in a diversity gain of ¢-n = min(m, k)-
n. We will see in the next part that this simple repetition code achieves the
maximum possible diversity gain.

2. The channel model is:
y[il" = h[i]"X[i] + 2[i]
where i, 1 < i < n is the block index, y[i] € C* is the received signal for block
i, h[i] € C™ is the channel vector assumed constant for block ¢ and independent

across blocks, X[i] € C™** is the part of the codeword transmitted during the
block 7, and z[i] is i.i.d. white Gaussian noise.

At the receiver the effective received codeword is:

v = [h[1"X[1],h[2]"X[2], -, h[n]TX[n]] " € C*

Conditioned on the channel realization h[1],h[2],... h[n], the pairwise error
probability depends only on [|v; — vs||? through the expression:

[vo — vi]|?

Px,—xsn = @ 5N,

which can be rewritten and upper bounded as:

Po—xa)n = @ Z”hm <X22[3]VO—X1[Z'])H
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[hfi]” (Xafi] — X [i])]1*
< Hexp[ AN, }

By taking expectations over h[i],i = 1,2,...,n and using the fact that different
blocks experience independent fadings we obtain:

P < ﬁE{eXp {_Hh[z’]T( L]VO XlH)Hzn

=1

Let Ali] = (Xy[i] — X [1])(Xa[i] — Xy[i])* 2 . Since Ali] is positive semidefinite
it can be expressed as A[i| = V/[i|A[i]V[i]* where V[i] is unitary and A[i| =
diag(A[i], ..., A%, [i])-

Then we have:

Ihfi] " (Xe[i] = XaliD I = h[]"VIA[V[]™hE]" = b " Ali]h[]*

:Z|€ ‘Az

=1

where h[i]” = h[i]TV[i] has the same distribution as h[i]” because the entries of
h[i] are i.i.d. CN(0,1) and V[i] is unitary.

Therefore letting t; = rank(Al[i]) < min(m, k),

e = T o [P0 |- T iy

i=1 (=1 i=1 (=1 ¢
11 4N
< :
M1
where we have assumed Aj[i] > A3[i] > --- > A [i] >0 fori=1,2,...,n

Finally we get the pairwise code design criterion: choose the code so that Al[i]
is full rank for all 1 < ¢ < n and for all pairs of codewords (which assures a
maximum diversity gain equal to n - min(m, k)) and among those codes, choose
the one that maximizes the minimum product ]I, [Tv, A2[i] = [, det(A[i])
over all pairs of codewords.

Note that the repetition code proposed in a) with z = 41 achieves full diversity
gain.

2 A[i] depends on the pair of codewords considered. To make the notation simpler we avoided using
more indices to explicitly show this dependence.
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For pure time diversity we set m = 1 in which case the matrices Ali] reduce
to complex scalars with eigenvalues |A[i]| = ||x2[i] — x1[i]||* and the pairwise
error probability depends on the product distance between the pair of codewords

[T [Peofd] = i)

For pure spatial diversity we set n = 1 in which case there is only one matrix
A for each pair of codewords. The design criterion reduces to choosing the code
such that A is full rank for all pair of codewords, and among those codes that
satisfy this, choose the one that maximizes the minimum det(A) for all pair of
codewords. This criterion is the one obtained in class.

EXERCISE 3.24. 1. Assume uniform scattering around the mobile. In this case the
fading correlation is independent of the direction of movement, so we can assume
that the mobile is moving in the same direction as where the second antenna
would be located. The mobile reaches the location of the second antenna after
traveling a distance d, after a time interval d/v where v is the speed of movement.
The correlation of the fading gains between these 2 locations is given by R[|d/v*
W], where 1/W is the sampling interval of the discrete time model.

The fading gains are zero mean, circularly symmetric jointly complex Gaussian,
so their joint distribution is completely determined by their correlation matrix.
Letting h = [hyho]” be the gains at the locations of the 2 antennas at a given
time, we have:

h ~ CN (0,Ky) (3.15)
where
_ R[0] Rl|d/v-W]]
[ maowy "o 10
2. The received signal at the 2 antennas is y[n] = hz[n] + w[n] where w[n| ~

CN (0, Nyl,). Conditioned on h the error probability for BPSK is Q(1/2|/h||2SNR)

and the average error probability is:

P.=E [Q(\/2||h||QSNR)} (3.17)

where the expectation is taken with respect to the distribution of h which was
found in part (1).

3. The problem of directly doing a high SNR approximation in the computation of
(3.17) is that the 2 components of h are correlated. However, noting that any
nonsingular transformation of y[n] is a sufficient statistic, we can do a transfor-
mation that decorrelates the entries of h.

Let K;, = UAU* where U is unitary and A is diagonal with non-negative entries.
We can always find this decomposition because Ky, is positive semidefinite. Then
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define y[n] = U*y = U*h[n]z[n] + U*w[n] = h[n]z[n] + W[n]. It follows that
h[n] ~ CN(0,A) and w[n] ~ C'N(0, NoI,). Now we can use the error probability
expression found in b) but with uncorrelated fading gains, which in the case of
circularly symmetric complex Gaussian random variables implies independence,
and use a high SNR approximation for the Q function:

P - E {Q (M)] ~ E [e-1Ishe]

=2 S 2 1 1
— R |e-ImPSNR] g [ o—Ih2lPSNR| _ 1
[e } [6 } WSNR+ 1) usNR 1) 18

where A\; and A, are the diagonal elements of A (the eigenvalues of Ky,). These
eigenvalues can be computed explicitly. Assuming R[0] = 1 and letting p =
R[|d/v-W|] we obtain A\; = 1+ |p| and Ay = 1 — |p|]. If |p| > 0 then \; > 0
(i =1,2), and we can further approximate (3.18) for high SNR:

1 1

AMASNR? (1 — |p|2)SNR? (3.19)

e

In this case we get a diversity gain of 2 and the correlation between antennas
increases the error probability by the factor 1/(1 — |p|?) as compared to the
uncorrelated antenna case. If on the other hand |p| = 1 (perfect correlation
between antennas) then Ay = 0 and P, ~ In this case the diversity gain
reduces to 1.

_1_
2SNR”

As we increase the antenna separation d the correlation |p| decreases since the
correlation function R[m| is monotonically decreasing, and the probability of
error decreases.

EXERCISE 3.25. We have

I([)l] x[?] x[g] 3
yt - [h1 hy - hL] 0 ffé] IH JJ[] +w
0 0 0 z[1]

Now, we want to argue that the typical decoding error is when all the channel gains
h;s are small (i.e. |h;|*> < 1/SNR). Consider the following sub-optimal decoder:

e Suppose |hi|?> > 1/SNR'™“: then using the first received symbol alone, we can
decode z[1] and then using the second symbol, after subtracting of z[1], decode
x[2] and so on.
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e Now suppose |hi|> < 1/SNR but |hy|? > 1/SNR'™, then we use the second
received symbol to decode z[1]. Note that since the first channel tap is small the
interference caused in the second symbol because of x[2] is also small, and hence
we can decode z[1] using the second received symbol. Similarly, we can use the
third symbol to decode z|[2].

e And so on for |hy|?, |he|?, -+, |hm|?> < 1/SNR and |hpi1]? > 1/SNR'™: we use
the m + 1th symbol to decode z[1].

For this sub-optimal decoder because of the tail behavior of the ()-function, even if
one of the channels gains is larger that 1/SNR'™, then the probability of error decays
exponentially in SNR. Thus, typically error happens only when all the channel gains
are small which gives us a best possible diversity order of L.

EXERCISE 3.26. 1. With z[0] = £1,

det(X 4 — Xp)(X4 — Xp)* > 4F

and
P{X, — Xp} <SNR™*

for any pair of codewords that differ in the first component. Hence by the union
bound, the probability of error py on the first symbol is

1

< 2E"DSNR™ &2 (o)

2. To get the same rate using the naive scheme, one has to use 2¥- PAM. The
distance between constellation points is of the order of 2=%. Hence , the error

probability is of the order of
4.287"
{SNR}

Hence, the first scheme uses a factor of 2-(“+1) less energy than the naive scheme
for the same error probability. This coding gain is exponential in L (linear in L
in dB.)

3. Even if we are trying to calculate the error probability for a middle stream, the
determinant is still lower bounded by 4% (consider the first non-zero stream).
Then, the probability of error is upper bounded by: 20V-DSNR™Z,

EXERCISE 3.27. 1. The channel matrix is

ho O
hi ho
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2. The ZF equalizer would only look at y[0] since there is interference on the y[1]
component. But then it makes an error whenever hq is in deep fade. Hence, its
diversity is 1. This is less than the diversity gain of 2 for the ML approach.

EXERCISE 3.28. The DFT of the fading coefficients {h¢}i=) after extending the se-
quence adding N — L zeros is:

L-1

~ 1 .

hn = \/_N E h56_127rzn/N (320)
(=0

for n = 0,1,...,N — 1. Since {h}L7} are iid. CN(0,1/L) it follows that {h,} =}
are circularly symmetric jointly complex Gaussian, so their statistics are completely
specified by the correlation function

o | Lol
Rir] = Elhwihi] = + Elhyht]ed Flmtntn-—nl
£=0 m=0
L1 mrL
1 _i2mgn 1 sin (5= rr(L—1)
= %7 i%er _ ) 3111((;))6 i (1—=90[r]) + =d[r] (3.21)
= N

valid of |r| < (N —1)/2.

The coherence bandwidth is given by W, = W/(2L) and the tone spacing is W/N, so
the coherence bandwidth expressed in number of tones is N/(2L). We expect the gains
of the carriers separated by more than the coherence bandwidth to be approximately
independent. To state this more precisely, we want to show that |R[r]| < R[0] for
aN/(2L) < |r] < (N —1)/2, where we have assumed N to be odd for simplicity, and «
is some constant, say 10. Note that the carrier gains are periodic in n so the correlation
function is also periodic in r with period N, so we need to consider values of r only
within one period.

To prove this statement we need to upper bound |R[r]| for aN/(2L) < |r| <
(N —1)/2. We first note that |sin (%£) | < 1 and |sin(z)| > 2|z|/7 for |z| < 7/2,
so sin (%r) > 2|r|/N > a/L in the range of interest. Therefore for aN/(2L) < |r| <
(N —1)/2,

1 L 1 1
Rl < 7 = — = —R[) (322)

It follows that the correlation decays at least as a~! for tones separated by « times

the coherence bandwidth.

EXERCISE 3.29. In outdoor environments the difference in the distances travelled by
different paths is of the order of a few hundred meters. For example, for a path
difference of 300m the delay spread is 1us, so we can say in general that T} is in the
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order of a microsecond. On the other hand T, ~ 1/(4D) ~ 4.5ms for a mobile speed of
60km/h and a carrier frequency of 1GHz. We see that T, >> T} in typical scenarios.

OFDM: OFDM assumes that the channel remains constant during the transmis-
sion of an OFDM block, which requires N < T.W. The overhead (both in time and
power) incurred by the use of the cyclic prefix is L/(L + N), where L = T,;W is the
number of taps. To have small overhead we need L < N, and this implies T; < T..
Thus the underspread condition is required for a small overhead.

DSSS: The Rake receiver requires the channel to remain constant during the trans-
mission of the spreading sequence of length n, so n < T.,W. Also we require n > L
for the ISI to be negligible. These two conditions together require that T, < T..

Channel Estimation: In both systems we need to estimate the channel. We
define L.y = KE/Ny as a threshold for determining the channel estimation perfor-
mance. The channel estimation error is small when L < L., or equivalently when
Ty < KE/(WNy). Also K < T.,W for the channel to remain constant during the
measurement interval. Thus we need T; < T.E/Ny. A large ratio T./T; makes the
channel estimation easier by requiring a smaller SNR.

Note that in the case of OFDM we have control over the number of carriers over
which we spread our energy, so it is possible to have small estimation error even when
the condition L < L..; is not met.

EXERCISE 3.30. 1. We know that the taps h[i]’s are circularly symmetric. For
fixed time ¢ and different values of ¢ the taps are independent random variables.
This follows because the different taps correspond to different signal paths which
experience independent reflections (attenuations and phase shifts). The complex
gain of the n'® carrier at the *® OFDM symbol, for an OFDM block length of N
and L taps is given by:

holi] = N hy[i]e=92m/N (3.23)
/=0

The multiplication by the complex exponential does not modify the distribution
of hy[i]. Also, since the L terms in the sum are independent, the multiplica-
tion by the complex exponentials does not modify the joint distribution of the
different terms, and hence does not modify the distribution of the sum. Since
the dependence on n only appears through the complex exponential, and we can
remove the complex exponentials without modifying the distribution of h,, [i], it
follows that the {h,[i]}Y_, are identically distributed for fixed i.

2. From the text, we know that the effect of movement of paths from tap to tap is
negligible compared to the variation of the taps due to Doppler spread whenever
fe > W. Making this assumption the movement of paths between taps occurs in
a time scale much larger than the variation due to Doppler shifts, and therefore
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we have that the processes {h,[m]|},, are independent across ¢. Now we can use
an argument similar to that of part (1) but using vectors.

Let by, = [ha[1]... ho[r]]", n = 1,2,..., N, and hy = [he[1]he[2] ... he[r])]T, € =
0,1,...,L —1. We can write:

L-1

~ 1 :

hn = \/_N E hge_JQﬂ—nZ/N (324)
n=0

We can use the result of Exercise 2.16 to conclude that the vectors h,, ¢ =
0,1,...,L — 1 are circularly symmetric. Hence the distribution of each of the
terms in the above sum is not modified by the product with the complex exponen-
tial. Also the initial observation implies that the vectors h,, £ =0,1,..., L — 1
are independent, and therefore the sum (3.24) is not modified by the product
with the complex exponentials. Since the dependence on n is only through the
complex exponentials, and these can be removed without modifying the distri-
bution of the sum, it follows that {h,}’_, are identically distributed. Since 7 is
arbitrary the result follows.

EXERCISE 3.31. Let r = (r4rL)?, where ry4 and rp are as defined in Exercise 3.6.
Define
C 0 D O
C:(%_'_NO)IL? D:NOIL7 EA:|:0 D :|7 EB:|:O C :| (325)

Then (r | x4) ~ CN(0,X,4) and (r | xg) ~ CN(0,Xp), so noting that det X4 =
det X5 the log-likelihood ratio is given by:

() = tog | — et = 23 = (el = eal?) ey (320

p(r | xp E + LNy)

By comparing the log-likelihood ratio to 0 we obtain the decision rule (3.63) of the
notes.
We now compute the error probability:

P. = Pr [|lrall® > lrsl* [ x5] = Pr [[wal® > | V&b + w | (3.27)
|wa|? and ||v/Eh+wg]|? have x? distributions with densities f1(z) = me_le_x/No
=

and fo(x) = g mrgmme’ e /NP for v > 0. Letting T = [wall* —[|vEh +
wp||? with density:

frlt) = / T RO R =D (3.28)
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we can express the error probability by:

Fo = Prir>01= / / P U ot aias
¢ — )12 [No(Ny + &/ L)]E
L1
- / / S+t) 1 /(NG Gy
— D)2 [No(Noy + &/L)]E
L L 00 gkyL—1-kgL—1
_ -1 t o~ t/N +
(- 1>'2 ( )/ / T oo ) dieo)
k=0
L-1
1 — L+Fk—1) [<ttF
- — (Lk ! )( tk—1) / _tNogy (3.30)
L-1
1 (L—l)(L+k—1)!(L—1—k) .
- N (3.31)
_ L+k L
e 5
af) = k Noaw
where we have defined o = (NLO + m) and 3 = No(Ny + &/L). Here (3.29) is

obtained by the binomial expansion formula, and (3.30) and (3.31) follow by integrating
the x? densities over their domains. This last formula is just what is required.

EXERCISE 3.32. Define rff) and rg) by:
rA =hll)e, + 0, 0=1,2,... L
r = hlley + 0l (=12, L (3.32)

where z1 = ||z4|| and 25 = 0 if x4 is transmitted, and z; = 0 and x9 = ||zg|| if xp is
transmitted.
Define r,(f) as in (3.152) in the text. Then the channel estimates are:

hle] = %\F@\/—h[]ﬂu@) (3.33)
= ahl[f] + @ (3.34)

for £ = 0,1,...,L — 1, where ©® ~ CN(0, KNy), i.i.d., a = 2 and 0® ~

KE/No+L
CN( ,(I{gf/fv%), lld

The coherent receiver projects r4 and rg onto h obtaining:

ya = hiry = a|[h|’z; + Wha, + (ch + W) w4



Tse and Viswanath: Fundamentals of Wireless Communication 52

YB = fl*BI‘B = a||h||2x2 + W*hl‘g + ((lh + W)*WB

(3.35)
where 1 = ||z4|| and 25 = 0 if x4 is transmitted, and z; = 0 and x5 = ||zg|| if xp is
transmitted. We assume ||za|> = ||zp]|> = & = €. Also wy and wp are independent

C'N(0, NoI.) random vectors, independent of everything else.
The probability of error is given by:

P = Pr(®{ya} >R{ys} | x5)
= Pr[R{(ah+w)'wa} > R{alb|*VE + VEWD + (ah + W) )]
= Pr [ﬁ%{(amw)*( )} > ?R{a||h\|2+w*h}] (3.36)

W4 — WpRB
VE

Since it is hard to compute the above probability explicitly, we opt for computing
it approximately by simulation.

Probability of error as a function of the number of paths. Eb/N0=1O dB, K=5
0.08 T T T T T T T T

0.07f : g g 1

Error Probability
o o
o o
S (5]
T
L L

o

Q

@
L

0.02 B

) I I I I I I I I I
0 20 40 60 80 100 120 140 160 180 200

Number of paths L

Figure 3.2: Probability of error as a function of the number of paths for £/Ny = 10dB and K = 5.

We see in Figure 3.2 that the probability of error starts degrading for L =~ 15.
For this particular choice of the parameters L., = KE/Ny = 50 so for L > L., the
performance of the detector is very poor.

EXERCISE 3.33.



Chapter 4

Solutions to Exercises

EXERCISE 4.1. 1. For this example C=7 and M=10. The maximal allowable subsets
are enumerated as below,

S = {7}
Sy = {1,3}
Sy = {1,4}
Sy = {1,5}
Sy = {2,4}
Se = 12,5}
S: = {2,6}
Ss = {3,5}
Se = {3,6}
S = {4,6}

2. The matrix A can be represented as,

s

I
_— o O O o oo
SO oo~ O
OO O = OO
OO OO o
OO O = OO
S o= OO+~ Oo
SO = OO OO
OO, O, OO
SO =R OO = OO
OO O O OO

EXERCISE 4.2. 1. Let T;(r) be the average traffic per channel supported in the cell 7.
Then since the average traffic supported cannot exceed the actual traffic present

93
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in cell 7 we have,

Ti(r) < Average traffic per channel in cell i
= DiT

Therefore adding over all the cells we have,
C
T(r) = > Tir),
i=1

c
= Zpﬂ",
i=1
E?:l piB3
N Y
C N
PEPINEY {Channel | used in cell i}
N )

where [ { Channel 1 used in cell i} is the indicator function which is equal to 1 if

channel [ is used in cell ¢ and zero otherwise. Exchanging the order of summation,
we have,

N C
1
T(r) < N § : § :[{ Channel 1 used in cell i}
I=1 i=1

Now each channel [ is assigned to a subset of one of the maximal sets (note
that it does not have to be a strict subset). Lets assume that the channel [ is
assigned to a subset of the maximal set S; which corresponds to the column j in
the adjacency matrix. Therefore,

1
T(r) < szl’

A
=2| =
Mz
g
Mq
C)Q

A
|
=
=
>
S
HS
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c
= max E Q.
G=1,...,M £ *J
i=1

2. Asnoted in part (1) above: Let T;(r) be the average traffic per channel supported
in the cell . Then since the average traffic supported cannot exceed the actual
traffic present in cell ¢ we have,

T;(r) < Average traffic per channel in cell i
= DiT

Then, summing over all the cells, we get
c
Ty(r) <Y pir=r.
i=1

3. To combine the two upper bounds, simply choose a set of numbers y; € [0, 1] for
1=1,...,C and observe that

Tl(r) < pir = Yipir + (1 - yi>pﬂ".

Then, summing over all ¢ = 1,...,C and applying the bound from part (1) to
the second term and bound from part (2) to the first term, we obtain

c c
Ti(r) < Zyipir + [ Dnax Z(l — Y;)a;.
i=1 T =1

EXERCISE 4.3.

EXERCISE 4.4. 1.

s(t) = R_f:x[n]sinc (t_T”T) exp(mfct)]

|l n=0

- —nT
= R Zsinc (t Tn )exp(j27rfct+9n)

|l n=0

where x[n| = exp(j#,) and 6,, is uniformly distributed on [0, 27] and independent
across time samples n.
Now, the average power in s(t) over a symbol period is given by

P, =E {% /OT |3(t)|2dt}
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2
- t —nT
Is()]* = (Z sinc < ) cos(2m f.T + Hn)>
n=0
= Z Z sinc (t Tn ) cos(2m f. T + 6,,)sinc (t Tm > cos(2m f. T + 6,,)
n=0 m=0
By independence of 6,, and 6,, for n # m we have that
= t—nT
E[ls®)] = inc’ E[cos?(27 f.t +
IS = Ysinet (" ) Beostonst + o)
= i 1sinc2 t—nd
- &2 T

Observe that the series above is uniformly (and absolutely) convergent on 0 < ¢ <
T'. To see this note that

o0 © gin? (4 —
ZSiHCQ (t—TnT) _ Zsmt(T n)

n=0 (T o n)2

n=0
> 1 =1
S Ly S L

Hence, we can interchange the summation and integration in computing the average
power:

1 (M1, ,(t—nT I < (T ,(t—nT
Py, = T/o {nzzoésmc( T )}dt:ﬁ;/o smc( T )dt

1 o0 —n+1 1 1 1 [e%)
=35 Zo/u_n sinc®(u)du = 5/0 sinc? (u)du + 5/0 sinc? (u)du
where u = # Using Parseval’s identity, the energy in sinc(u) is the same as the

energy in its Fourier transform rect(f) so

2 1+1/1' *(u)d
av — = Smce
4 20 11 u)au

Using MATLAB, the above quantity can be calculated to be P,, ~ 0.476.

To estimate the peak-power as a function of T', suppose that the maximum of |s(t)|?
over [0, 7] occurs at some ¢y € [0,7]. Then we can write:

01%1%}%|5(t)|2 _ (Z Sin((ﬂt(E;n_Tn))> COS(@J) ’

n=0 @
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where we have used the fact that 27 f.T" is an integer. The time ¢, is a random variable
since #, is random. However, we can obtain the following simple upper bound by
expanding the above expression:

n Z Z Sinﬂ(?tgfo__n;l)) Sinﬂ_?tETo _ m)) COS Qn COS 9m7 (41)

< %ii cos 0,, cos 6, (4.2)

T2 i i~ (1 —n) (1 —m)
+ Z Z cos 0, cosb,,,
n=0,1 m=0,1

In the first inequality above, the first term was obtained by upper bounding sin (7T ( % — n))

by 1. In the second inequality, we use the observation that sinc (% — n) is maximized
at t = nT" (and this is feasible since n = 0, 1) where it evaluates to 1, to obtain the
second term. The first term is upper bounded by noting that the minimum of |+ —n|,
for n # 0,1, occurs when t = T.

Now, taking the expectation of the above upper bound over the distribution of the
data symbols and observing that 6,, and 6,, are independent for n # m, we get that:

1 & 1
2
< .
E{Orgfg;b(fﬂ S ot

n=2

Hence

0<t<T

1 2
PP:=E {max |s(t)|2] < ﬁ% + 1~ 1.083.
T

The Peak-to-average-power ratio g is then approximately 2.77. Also, from (4.1), we
see that as T' — oo, the peak-power approaches this value.

EXERCISE 4.5. From equation (4.31), for each k = 1,..., K, we get,

GPigke, = Bk Z Pogn.c, + NowpBy

n#k
p 1 Z P, Brn.ey > Now B
9k,cy, Gk,cy,
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Using the notation p to denote the vector (P, ..., Px), we can rewrite the above K
inequalities as,

Ii—F)p = b

where,

b = NOW(ﬁl ﬁK)

91,1 gK,cK

and F is a K x K matrix given by,

0 if i = j
fo = fmas i)
Goie, MUT

EXERCISE 4.6. 1. To see that F is irreducible, simply take m = 2 and observe that,
for K > 3, we have that F™ is a matrix with strictly positive entries. Hence, by
definition, F' is irreducible.

2. The reference [106] gives an in-depth treatment of non-negative matrices.

3. The following proof is taken from [106]. First we show that (a) implies (b).
Suppose that, for a given strictly positive constraint b > 0, there exists a strictly
positive solution p > 0 to (4.32), i.e.,

(I-F)p=b.

Then, b + Fp < p, and hence Fp < p. Now, since F is irreducible and non-
negative it has a unique left (and right) strictly positive eigenvector x? > 0
associated with the Perron-Frobenius eigenvalue r. Pre-multiplying both sides of
the inequality p > Fp by this eigenvector, we get that

x'p >x"Fp =r x'p,

and hence we conclude that » < 1.

Now, we show that (b) implies (¢). Suppose that the Perron-Frobineus eigenvalue
r < 1. Hence, all other eigenvalues \; satisfy [A\;| < 1fori=1,..., K —1. Here,
for simplicity, we assume that all the eigenvalues are distinct. The arguments
are only slightly more technical if this condition is violated. We can express
F = B"'AB™!, for some matrix B, where A = diag(r, A1, ..., A\x). Hence, we
can write

F" = B 'diag(r", \}, ..., \)B,
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for n > 1 integer. Thus, we see that r" — 0, and A\ — 0, for all 7, as n — oo.
Hence, F* — 0 elementwise. Recall the following matrix lemma: If F* — 0
elementwise, then (I — F)~! exists and

(I-F)"'= i F", (4.3)

where the convergence takes place elementwise. Also observe that, by irreducibil-
ity, for any pair (i,7), (F");; > 0 for some n as a function of (7, j). Hence, the
right-hand side of (4.3) is a strictly positive matrix. Hence we conclude that
(I—F)~' > 0. Hence we have established (c).

To prove that (c) implies (a), note that if (I — F)~! > 0, then (I — F)~'b > 0,
for any b > 0. Let p = (I — F)~!'b and hence p > 0. Thus, we have proved the
equivalence of the three statements (a), (b) and (c).

EXERCISE 4.7. 1. Given that (c, t(l)) is feasible, we know that there exists a vector

p) of powers such that user k’s £,/ meets the target level of ﬁ,gl). If B,(Cl) > ﬁ,(f)
then the same vector of powers, p(!) will satisfy the threshold requirements for
each mobile as the cell allocation remains unchanged. Hence (c,t(Q)) is also
feasible.

2. The feasibility of (¢®,$()) is evident from the definition of ﬁ,(:’). Now it remains

to be shown that ﬁ,i?’) > [Bj. Let us consider a particular user r. Without loss of

generality, assume that pﬁl)* < ps?)*. Then the new assignment will be c® =,

Therefore,
(1)*

g..3Dr
ﬁ(?}) _ T,Cr

' NoW + > g, C<3)p;(€3)*
ktr Ok

g, 00"

3)x* 3)*
NoW + > gk,c<3>p,(€) + > gk,cmp;(g)
ke and ken, k#r and kel,

where [} = {k‘|p,(€1)* < p,(f)*} and I, = {k|p,(f)* < p,(:)*}. Therefore with the
corresponding cell assignment we have,

g’r,@(ﬂg) pgl)*

1)= 2)%
NoW + X gk,qg)p;(g) + X gk@;ﬂmp;ﬁ)
k#r and kel k#r and kel

3P
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On comparing the above expression for 6(3) with 3, we see that the numerator
remains the same in both the cases but the denomlnator in 67« is reduced due to
the new cell assignment. Hence it follows that @« > 3, for all mobiles 1 <r < K

3. Given that uplink communication is feasible we know that there exists at least
one vector of powers, p(V* such that the threshold requirements are made. If
this is the only solution possible then its trivially the unique coordinate-wise
minimum vector of power that allows successful communication. On the other
hand if there is another vector of powers which is feasible, say p®*, then using
the cell and power allotment in part (2) we get a new power vector p®* each
coordinate of which is less than or equal to the coordinates of p®* and p®
Now applying the algorithm in part (2) to p®* and the other feasible vectors
and proceeding in a similar fashion as above, we can conclude that there is a
coordinate-wise minimum vector of powers.

EXERCISE 4.8. 1. (a) From the definitions, g,; > 0 for all n and [ € S,, and
[7(51) >0 for all n,l € S, if p,(lm) > () for all n. Hence

(m)
p?(lmﬂ) — min =2l >0
lesS, gnl

Thus I(p) > 0 for every p > 0.
(b) Suppose p > p (component-wise dominance). Then we have that
nglpk + NoW > nglpk + NoW = I}
k#n k#n

Hence

3 (TZR) j(?ln)
I nn > ol — 1(p).
(p) = ggén Ggni }lelén Ggn (b)

(¢) Assume o > 1

 BuI" (ap)
I(ap) = min 2xn \9P)
(ap) min —c
1" (a nglapk + NoW < nglapk ™ 4 aNgW = aI™(p)

Hence

I(ap) < al(p).
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2. Suppose I has a fixed point py, i.e., [(p1) = p1. Assume that there exists another
fixed point ps > 0 such that p; # ps. Then, without loss of generality, we can
assume that there exists at least one j € {1,..., K} such that pi(j) < p2(j).

Now, observe that « := max;cp,. k) % > 1. Let ¢ = argmaxeq1,. i} zfg; and

so pa(i) = ap;(i). Consequently ap; > ps. Hence, we have that

apy = al(p1) > I(ap1) > 1(p2) = pe.

But, by definition, « is such that ap;(i) = p2(i). Hence we have contradiction
and it must be that p; = ps.

3. Suppose p* is the unique fixed point of . Since p*(j) > 0 for all j, given any
initial p, we can find a > 1 such that ap* > p. Now, from question part (1),
(c), I(ap*) < al(p*) = ap*. Now take z to be the all-zero vector. It is clear
that z < p < p*. By part (b) of question 1, we know that 1™ (z) < I (p) <
I™ (ap*).

Claim 1: /™ (ap*) — p* as n — oo.

Proof: From above we have I (ap*) < ap*. Assume that I (ap*) < 1™~ (ap*).
Then by part (b) of question 1, we have that (1™ (ap*)) < I(I™ Y (ap*)), ie.,
I (ap*) < I™(ap*). Hence 1™ (ap*) is a decreasing sequence (component-
wise). It is also bounded away from zero so it must converge to the unique fixed
point p*.

Claim 2: I™(z) — p* as n — oo.

Proof: Clearly z < p* and I(z) > z. Suppose that z < I(z) < ...1™(z) < p*.
Then by part (b) of question 1, we have p* = I(p*) > I(I™(z)) > I(I""V(z)) =
I™(z). In other words we have shown that p* > I™*Y(z) > z. Therefore,
the sequence I (z) is nondecreasing and bounded above by p* hence it must
converge to p*.

Combining Claim 1 and Claim 2 together, we get that I (p) — p* for any
initial vector p.

4. Using the identical argument as in the proof of Claim 1, we observe that I (p)
is a decreasing sequence that converges to the fixed point p* for any feasible
vector p. Hence it follows that p > p* for any feasible vector p. In other words,
the fixed point p* is the solution to p > I(p) corresponding to the minimum
total transmit power.

EXERCISE 4.9.
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EXERCISE 4.10. 1. We assume that there is only 1 base station. The set of feasible
power vectors is given by:

A:{(Pl,Pg,...,PK)Z : Zﬁ/\OSPkSp,kzl,Z,,K}

2. For K=2 we need:

0<P <P , 0<P<P,
GPig11 G gia B NoW

il EA T S Iuwip 2 <P
Prga1 + NoW — b= 5921 e g1 ?
GPg21 B gi1a NoW
_ = —Z22P > P
Pigiq + NoW — = G 92,1 b g1 ?

A

For example let No‘f/ =1 11 = go1, P =5, for % = 2 the set A of feasible
power vectors is shown in figure 4.1.

For this example the set of feasible power vectors is non-empty, with componen-
twise minimum solution (P, Py) = (1,1). Clearly if P < 1, A = (. For a more
interesting example of an outage situation, let % = 1 with the above choices for
the other parameters. As shown in Figure 4.2 the feasible set of power vectors is
empty.

3. For the parameters g1 = g21 =1, G = 2, No)W =1 and 8 = 1 we have that the
component-wise minimum feasible power vector is (P;, Py) = (1,1). We plot in
Figure 4.3 the evolution of P, and P, over time when the power control algorithm
is run with a probability of error of 1073 in the power control bit for each user.

4. We first redo part (1). Let K be the number of users, M the number of base
stations, and gy, the gain from user k to base station m. Then the set A of
feasible power vectors to support a given & /Ny = [ requirement under soft
handoff in the uplink can be expressed as:

GPygkm

A:{(Pl,PQ,...,PK)
Z]l g]m+NOW

> 3, for some m, 1 <m < M,(4.4)

0< P, <Pk=12. K}

which can be specialized for the case of 2 base stations by choosing M = 2.

We now redo part (2).
Let A= {(P;, By): P < ;1 (90922 — oW ) }

2,1

B =
C:{(P1,P2) P2_Gg (P1g11+N0W}, {P1,P2 P2_Gg (P1912+N0W)}

2,2

{P17P2) PQ_gl <Gplﬂg” NW)}
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mnP2:2P1—1

mnPQZlP1+

N
N =

mn(Pr, By) = (1,1)

/ 1 5 anPl
-1

Figure 4.1: Set A of feasible power vectors for M=1 and K=2. The figure corresponds
to W — 1 g1 = go1, P = 5, and % = 2. Here (Py, Py) is the componentwise

92,1
minimum power vector in the feasible set.
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mnP2:P1—|—1

mnP2:P1—1

mnkF;

Figure 4.2: Empty set A of feasible power vectors for M=1 and K=2. The figure

corresponds to ]\;‘;VIV =1, 910 = g21, P =5, and % = 1.
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Figure 4.3: Trajectory of power updates over time for a power control bit error probability of 1073,

E = {(Pl,Pg) 0< P < 15,0 <P< 15} Then for K = M = 2 we can express
Aas A= ((AUB)N(CUD))NE. Forthe caseof G/B =2, g11 = g12 = g21 = 1/4,
goo = 1/2, P =5, and NyW = 1, the corresponding set of feasible power vectors

is shown in Figure 4.4. We see that there is a componentwise minimum power
vector (Pp, P2)* = (20/7,12/7) in the feasible set.

Also if G/f < min (\/99 \/ 91’292’1) then A = 0.

g1,292,1’ g1,192,2

5. With the parameter choices of part (4) we plot in Figure 4.5 the evolution of Py
and P, over time when the power control algorithm is run with a probability of
error of 1072 in the power control bit for each user.

6. This is not true. What determines the choice of base station is the signal to
interference plus noise ratio (SINR), and not the channel gain. If the channel
gain from a given user to a particular base station is large but that base station
is supporting many users, then the SINR may be small, even smaller than (3, in
which case the given base station cannot be chosen. On the other hand there
can be another base station for which the channel gain is not so large, but if the
interference seen by this user in the base station is small, then the SINR can be
large, possibly exceeding 3, in which case the base station can be chosen to serve
the user.

EXERCISE 4.11. 4. We analyze the CDMA system first. The cell model for this
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G &,
B NoW
G &y,

gQ
I
S}

Figure 4.4: Set A of feasible power vectors for M = K = 2. The figure corresponds to G/ = 2,
911 =0g12 =621 =1/4, goo = 1/2, and NgW = 1. Here (P1, P»)* is the componentwise minimum
power vector in the feasible set.

problem is shown in figure 4.6.

Here it is assume that users are perfectly power controlled in their respective cells.
Therefore the received power at each base station from the users in the cell is equal to
some constant (), independent of the user. Neglecting noise we have

GQ
(k—1)Q+ >, <r1k)a

for any user of cell #1 that it is not in the outage. Then

G>p [ —1+Zr“ ]

> (4.5)

1k

ﬂ

:>ZT <——(K—1)

7

If this condition is not met there is an outage. Then

P = Pr{z Py C o (K - 1)

7’1k
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Figure 4.5: Trajectory of power updates over time for 2 base stations, for a power control bit error
probability of 1073,

Let X = Z,I::l(:—:)a For large K we approximate X by a Gaussian random variable

with mean p = F(X) and standard deviation ¢ = y/var(X). We first note that

T2k . _ T2,k \a _ T2,k o 3 :
{m}k are iid. Then p = KFE |:(7"1,k) ] and o = \/Kva'r ((rl}k) > It is not possible
to obtain a closed form expression for ;1 and o for general . We will approximate 7 ;
by E(r11) = d then

=
Q

d

T2k 2K 21

KB [(25ye| = 2= [ 2o g

|:<T17k) :| de \/0' dr2,1 2.1
1 K 1

2K (d\* B
ded \2 a+1 29a+1

K 1 AN
2 ~ — |9 ~2a d |z -
g 2o /0 er’l T2,1 5 (a T 1)2

_ K LAt d\* 1
@ |Td\2 20+ 1 2) (a+1)2

K1 1
220 20+1 (a+1)?

and

N
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cell #1 cell #2
mnro g
e S—

mnry g

user k of cell #2

o
=
N
o
=
N

—<
.

A
Y
A

Figure 4.6: Cell model for Exercise 4.11

Then
reef[§-w]
o BRI
Replacing G = 2 | i and o we have
{R% — (K- - KQQ—:J ja? {2al+ 1 (« i 1)2]_2 =@ (Fow)
o

W . 1 1 1 ]: 2 1
EAS P _ 1 —
RE [Q (Frout) 0 [2044—1 (04—1—1)2] ot K]ﬁ

Therefore the spectral efficiency f = % is given by

]
"
Q
—_

RK 1| _ 1 ! ! _
f:W:B[Q 1(Ppout)\/E2a {2054_1_(044—1)2} +a+1+1_?] (4.6)

Now as K and W go to oo we obtain

Also as « increases, f increases to %
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Figure 4.7: Spectral efficiency as a function of the number of users in each cell for Q=1 (P,.;) = 2,
o =2 and § = T7dB.

For the case that a = 2 and [ = 7dB the resulting spectral efficiency is plotted in
the figure 4.7 and we have
lim f(a=23=7dB)=0.1833

K,W—o00

1. Now consider the orthogonal case. Since the users are orthogonal within the
cell there is no intra-cell interference. Also we will assume that the users are power
controlled at each base station so that the received power from all the users is the same.
The out-of-cell interference is averaged over many OFDM symbols, so that each base
station observes an interference that is the average over all the users of the neighboring
cell. We will reuse most of the derivation of part (4). We have

GQ
K T
T Q ()
for any user of cell 1 that is not in outage, where GG is the processing gain, @) is the
received power of a user to its base station, and r; is the distance of user k to base
station i. Note that this is exactly the same expression found in part (4) without the
term (K-1)Q in the denominator.

Defining 1 and o as before, we can reuse all the expressions found in part (4)
eliminating the term (K — 1). We obtain

{213

=
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and

RK 1
f:W:B

QY (Po) 1 1 1 -
2ovEk \(2a+1 (1taZ 2@+l

as the spectral efficiency.
2. As K and W go to oo we obtain:

3. We see in Figure 4.8 that the spectral efficiency increases as the bandwidth and
the number of users grow.

24

221 .

Spectral efficiency RK/W

0.8 I I I I I I I I I
0

10 20 30 40 50 60 70 80 90 100
Number of users in each cell K

Figure 4.8: Spectral efficiency as a function of the number of users in each cell for Q™1 (P,.:) = 2,
a =2 and 3 = 7dB.

4. From the previous point we observe that removing the intra-cell interference
made the spectral efficiency grow with the bandwidth and the number of users. The
intra-cell interference contributes with a term (K —1)@ to the total interference. When
this interference is normalized by dividing it by the number of users we get (1—1/K)Q
which increases with K. We see that the intra-cell interference per user increases with
K. For example for K = 1 there is no other user in the cell, and hence there is no
intra-cell interference in the CDMA case. As K increases, the normalized intra-cell
interference also increases reducing the spectral efficiency. This effect turns out to be
more important than the interference averaging, dominating the dependence of the
spectral efficiency with K and W as we observed in the figure in part (4).
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EXERCISE 4.12. 1. The outage probability for user 1 is given by:

G€1P
SN 6P+ NoW

€1

S €+ NoW/P

P, = Pr < pB| =Pr < B/G| (4.7)

Since we don’t have any power constraint we can let P — oo. Also for large N
we can use the CLT to approximate Zjvz2 ej ~ N((N —1)fa, (N — 1)5?), where
i = E(e;) and 6% = Var(e;).

The pdf of € can be obtained by the transformation € = e* where X ~ N(u,o?).

It is given by: . )
- (852)

fe(e) = (4.8)

2moe
Therefore we can write:

for e > 0. Using this density we can compute ji = e#t7°/2 and 52 = ¢2+te” (e"z — 1).
€1
~ < B/G

j=2€j

Pt = FE {P

We would like to compute the spectral efficiency n = NR/W = N/G as a function
of the number of users N for a given outage probability P,,. For this we need
to solve numerically the implicit function G(N) defined by equation (4.9).

2. We show in Figure 4.9 a plot of the spectral efficiency as a function of the
number of users, for the parameter choices 3 = 7dB, u = 0, 0% = 0.053019 =
1/(101og;y€)? (which corresponds to a standard deviation of 1dB in €). As N
increases the spectral efficiency always decreases. There is an averaging effect
but it is masked by the fact that (N — 1)/N increases with N.

3. In the other examples considered in the text the only randomness in the SINR
was due to the interference, which was averaged out as N increased, converging
to a constant. However in this problem the power control error for the given user
remains random even for large N. There is an averaging of the interference, but
this is not enough to make the SINR converge to a constant. This randomness
in the SINR results in a degraded spectral efficiency. As a basis for comparison
we have plotted in Figure 4.9 the spectral efficiency that results when the user of
interest has perfect power control, but the interference has the same power control
error € considered before. In this case we see how the interference averaging effect
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Spectral efficiency as a function of N. =5, u=0, 0220.053019. Pom:lo'3
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Figure 4.9: Spectral efficiency as a function of the number of users.

eventually takes over resulting in a larger spectral efficiency for large N. By
comparing the two curves we see that imperfect power control produces a large
performance degradation.

EXERCISE 4.13. 1. Let h;[l] be the channel’s [th tap from base station ¢ (i = A, B)
to the user of interest. Assume for simplicity that both channels have L taps,
and assume that the received signals from the two base station are chip and
symbol synchronous. Assuming no ISI and using the notation of section 3.4.2 of
the notes we can write the received signal vector as:

L-1 M
y:Z X1A+Z
1=0

m=2 1

~
—

~
—

L—1 N
hall] 7(7[1),A+Zh3 X1B+Z hg|l] mB‘|’W

m=2 1

I
o
Il
o

(4.10)
where M and N are the number of users in cells A and B respectively. Since
the user is in soft handoff we can assume that the signals received from the two
base stations have comparable power, and we can use a Gaussian approximation
for the interference plus noise term. Letting W ~ CN(0, (3N, |[ha2E5 +
SN L Ih|2E5 + No)Luyr 1), where & is the chip energy of the transmitted
signal from base station 2, and n is the symbol length. Then we can write:

L-1 L-1

y =3 halllx + 3" hpllxly + W (4.11)
1=0 =0
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UNENCE R

The received signal without the noise lies in the span of the vectors {”uﬁ, TasT
Assuming that the spreading sequences are orthogonal, and that their shifts are
also orthogonal, we have that the previous set of vectors is an orthonormal set,

and we can project onto these vectors to obtain 2L sufficient statistics:

D= nil) il + w® (4.12)
where t = A, Band [ =0,1,...,L—1. We can further project onto the direction
of

[(laall2al0])(lwall2a1]) - - (luallhalL=1])(lugllhs[0]) ([lusl[hs[1]) - - - (sl sl L—
1])]* to obtain the sufficient statistic:

=V ([hal2ual? + [bs|2[up]?)z + w (4.13)

where w ~ ON(0, (35, [Ihal*€5 + 25, [1hs]*E5 + No)). Letting ||ui]|* =
GEfF,i = A, B and assuming x € {—1,1} we can write the error probability as:

2G 25 + [bsl*E5) )

Zm 2 [hal]E5 + Zm 2 [hg[[*€5 + No
2. Let N be the total number of base stations, K the total number of users, S the
set of all base stations, Sy the active set of user k (i.e. the set of base stations
with which user k is in soft handoff), A; the set of users that have base station i
in their active sets, gi, the channel gain from base station 7 to user k, and P ;

the power of the signal transmitted to user k from base station i. Then the SINR
seen by user k is given by:

G ics, il

SINR, =
Dies, Ihi 2jens ik Dii D ics\s, Ihi 2jen, Pia + NoW

(4.15)

Assuming that there is a minimum SINR requirement ( for reliable communica-
tion, the set of feasible power vectors is given by:

A:{<P171P172--'P17NP271'--P27N-~'PK71--'PK,N)ZS|NRkZﬂ,Pk7i:Oifi¢Sk,l€:1,2,...

(4.16)

The power control problem consists of finding a power vector in A.

EXERCISE 4.14. 1. The 2 latin squares have entries R{, = (ai + j) mod N and
Ri-”j = (bi 4+ j) mod N, where N is prime and a # b.

Consider the pair of ordered pairs:

(ka,kp)ij = ((ai+j) mod N, (bi+j) mod N)
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(kaskp)im = ((al4+m) mod N, (bl +m) mod N)

We want to show (i, j) # (I, m) = (ka, kb)i; # (Ka, kp)1,m, that is, any 2 ordered
pairs must be different. Let (dyi,d2) = (Ko, kb)ij — (Ko, kb)im- We have to show
that (dl, dg) 7£ (O, O)

(dy,d2) = ([a(i = 1)+ (j —m)] mod N,[b(i — 1)+ (j —m)] mod N) (4.17)

If i = [, then we must have j # m and (d;,d2) = ((j —m) mod N, (j —m) mod N).
Since —(N —1) < (j —m) < (N —1) and (j —m) # 0 it follows that (j — m)
mod N # 0, therefore (dy, ds) # (0,0).

If on the other hand i # [ then d; —dy = (a — b)(i — 1) mod N. dy —dy =0
requires that N divides (a — b) or (i — [) (note that here we use the fact that N
is prime). But both are in [—(N — 1),1] U [1,(N — 1)] so they are not divisible
by N. It follows that d; — ds # 0 and hence (dy, d3) # (0,0).

2. Adapted from J. van Lint, R. Wilson, ” A course in Combinatorics,” Second Ed.,
Cambridge University Press, 2001.

Consider a set of M mutually orthogonal latin squares. The entries in each
latin square correspond to virtual channel numbers. We are free to rename the
channels so that the first row of each latin square is (1,2,...,N). Then the
pairs (ki, kp)1; for any pair of matrices (I,m) (I # m, [,m € [1,...,M]) are
(7,7). Now consider the (2,1) entry of each latin square. It can’t be 1 because
1 already appears in the position (1,1). Also these elements must be different
in all the matrices, because the pairs (ki, k,,) with repeated entries have already
appeared. Thus we have M < (N — 1). Note that N need not be prime for this
result to hold.

EXERCISE 4.15. 1. Let M = N/n.

N
Il

1 (7 1M1 & i
/ S(t)2dt / (D[Z']ej27r(fc+iM/T)t + D[i]*e—jQW(fc+iM/T)t) dt
2N
0 0 5

T T 2
1 n—1 n—1 1 T A A T | |
= ﬁ Z T {/ D[Z‘]D[k]6]27r(2fc+(l+k)M/T)tdt+/ D[i]D[k]*GJQw((z—k)M/T)tdt
i=0 k=0 0 0

T T

+ / D[Z-]*D[k]€j27r((—i+k)M/T)tdt + / D[Z-]*D[k]*€—j27r(2fc+(i+k)M/T)tdt} (418)
0 0

The magnitudes of the first and last integrals of each term can be shown to be

upper bounded by T'|D[i]|*(27¢)~!, so when divided by T they are negligible.
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The other 2 integrals evaluate to T'|D[i]|?d; x. Therefore we can write:

n—1
_ 1
P=—— DIil|? 4.1
oy 212t (4.19)
When the symbols are chosen from an equal energy constellation with |D[i]| = 1
we get By = 55
2.
1 i - 27 ik N
dli| = —=)» DI[kN/nle’~ = (4.20)
S

The symbols D[i] are chosen uniformly on the unit circle, so their distribution
is invariant to rotations in the complex plane. Therefore their distribution is
circularly symmetric, and so is the distribution of their sum. Also the rotations
induced by the complex exponential in the IDFT do not change the resulting
distribution, so d[0],...,d[N — 1] are identically distributed.

As N — oo with the ratio n/N = a kept constant, we can apply a version of the
CLT for circularly symmetric random variables to conclude that the distribution

of d[i] converges to a circularly symmetric complex Gaussian distribution. Since
E|[|D[K]|?] =1 we get that d[i] ~ CN(0,«) for large N.

c) Since |d[0]|*/a ~ Exp(1) and P,,/a = 1/2 we can write

b [% < 9<77)} = br {@ <0(n)Pu/a| =1- e M2 =1 —#.21)

Thus 6(n) = —2log, n. For the special case of n = 0.05 we obtain #(0.05) = 5.99.

EXERCISE 4.16.



Chapter 5

Solutions to Exercises

EXERCISE 5.1. See handwritten solutions in file s04.h6sol_1.pdf (ex 3, part b))

EXERCISE 5.2. The received SNR at the base-station of the user at the edge of the cell
(at distance d from it) is given by:

P

NR=-—
> NoWde’

where it is assumed that the bandwidth allocated to the user is W Hz, a > 2 is the
path-loss exponent and Ny is noise variance. Using a reuse ratio of 0 < p < 1, the
closest base-station reusing the same frequency as the given base-station is at distance
2d/p. Since we are dealing with a linear arrangement, there are only 2 such base-
stations (the interference due to the others are significantly smaller and are going to
be ignored). Thus, the received interference is given by

p (e}
[=2P (-) ,
d
hence the received SINR is:
SINR = dﬂa = SNR
pNoW +25=  p+2(£)"SNR’

76
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Solution 5.2:
First, we observe the following simple method of evaluating the distance between

(centers of) any two cells in a hexagonal packing of the plane:

r(l,m,0) = 2d\/3m2 + 12 + 2/3lmcosd,

where 2d is the distance between the centers of two adjecent cells and the triple (I, m, @)
uniquely specifies the relative positions of the two cells w.r.t. one another in the
following way (also see the diagram above): To get from one cell to another, we go m
steps along the "offset axis” (the one that runs through the vertices of the cells) for
a distance of 2v/3dm, and [ steps along the ”principal axes” (the one that bisects the
sides of the cell) for a distance of 2ld. The angle between the two axes is given by 6.

In the diagrams below, we illustrate optimal reuse patterns for p = %, 71’ %, %. For
these reuse ratios we can see that identical distances separate the cells using the same
frequency band, for all frequency bands. This is not true in general and only holds for
specific reuse ratios (we only show up to p = %, but there are other ones like p =
etc. For instance:

L
167

1. For p = %, there are 6 nearest cells at distance 2dv/3 interfering. Hence, the
received SINR at the base-station due to the user at the edge of the cell (at
distance d, i.e., on the side of the cell not on the vertex) is given by

P
brs SNR
SINR = w7 2= — = 5 ,
3 6(2d\/§)a P (2ﬁ)aSNR

hence, we can write f, = VAL
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2. For p= }l, there are 6 cells at distance 2dv/4 and so fo=

3. For p= %, there are 6 cells at distance 2d/7 and so fo=

_6
(2va)’

6
(Q\ﬁ)a )

78



Tse and Viswanath: Fundamentals of Wireless Communication 79

4. For p = %, there are 6 cells at distance 2dv/9 and so fo= ﬁ.

Thus we see that, for these reuse ratios, the approximation f, = L& is a good one.

2/5)
In the plot below, we show the high-SNR approximation for the rate:

1
pW 10g2(1 + _)7
fo

for « = 2,4,6 in the hexagonal packing of the plane. Note that the universal reuse
ratio p = 1 yields the largest rate.

EXERCISE 5.3.
EXERCISE 5.4.

EXERCISE 5.5. In the figure below, we see that the optimal reuse ratio is p = 1/2 when
studying the high-SNR approximation for the per-user rate in a linear network:

1
+f_p)’

where f, = 2(£)®. The plots were generated using o = 2,4, 6 as sample values.

pW logy(1

EXERCISE 5.6. 1. This strategy achieves a rate:

- P1 P2
R = alog <1—|—N0> + (1 —«a)log <1+N0) (5.1)
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High—-SNR rate as a function of 1/rho for alpha=2,4,5
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High-SNR rate as a function of 1/rho for alpha=2,4,6
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45r- b
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1

Inverse of reuse ratio: 1/rho

where aP; + (1 — a)P, = P. By Jensen’s inequality and the concavity of log(+)
we have:

P1 P2
I 14+ — 1 - 1 14+ —=
aog<+N0)—|—( a)og(+N0)

aP1 + (1 — O[)PQ P
< e 1 _ e
< log (1 + N, ) log ( + N0> Cawan

If P, # P, we have a strict inequality and it follows that this strategy is subop-
timal.

. As in a) assume we use a strategy of transmitting with power constraint P, a
fraction « of the time, and with power constraint P, the remaining time. Also let



Tse and Viswanath: Fundamentals of Wireless Communication 81

P = aP; + (1—a)P; be the total power constraint. Since this is just a particular
strategy that satisfies the power constraint, the achievable rate cannot exceed
the capacity of the channel, which is the supremum of all achievable rates for
strategies that satisfy the power constraint. Thus we can write:

R=aC(P)+(1-a)C(R) < C(P) = C(aP, + (1 —a)R) (5.2)

valid for any P; and P, and « € [0, 1]. Therefore C'(P) is a concave function of
P.

EXERCISE 5.7. For QAM with 2 points, the average error probability can be expressed

as (for some constant «):
2a?
Po=aQ |/, 5.3

where the distance between two consecutive points on each of the axes is 2a and Nj is
the background noise. This expression is obtained by applying the union bound to the
pairwise errors between the nearest neighbors to some central point. However, from

Exercise 3.4, we know that the average SNR per symbol is given by SNR = ]f\;lo”, where
2 2
By = %(2’“ —1). (5.4)
Hence, we have that
3 SNR 3 SNR
P, = — | = -, 5.5
O‘Q( 2k—1> O‘eXp( 2(2k—1)> (5:5)

where the last inequality holds by the high-SNR approximation of Q(SNR) = exp(—SNR?/2).
Thus we have that the number of bits

3 SNR

~ log, [ st ) = log, SN |
k ~ log, (2111(04/136)) og, SNR + constant, (5.6)

and the rate of QAM has the optimal order of growth with SNR on the AWGN channel.
EXERCISE 5.8.

EXERCISE 5.9.

EX2ERCISE 5.10. First, we compute the high-SNR approximation of the mean of log(1+
|h|* SNR):

p = E[log(1+ |h]*SNR)] = /OO log(1 4 2SNR) f(x)dx,
0
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— /S log(1 4+ 2SNR) f (z)dx + /OO log(1 4+ 2SNR) f (z)dx,
0

1

SNR

Q

SNR

1 o (0.9}
P <|h|2 < —> + log SNR f(z)dz + f(z)log xdx.

SNR SNR

Where in the last line we have used the high-SNR approximation log(1 + SNR) =~

log SNR. Observe that, in the high-SNR regime, P (|| < og) ~ vz and the last

two terms are approximately log SNR and E[log |h|?], respectively. So we have that

S SNR+10gSNR+E[10g|h|] ~ log SNR + E[log |n|?].

Similarly we can define o2 := Eflog®(1 + |h|?SNR)] and use the same method to obtain
the following high-SNR approximation:

~ log® SNR + log SNRE[log |h|*] + E[log® |h|?].

Finally, the standard deviation is defined as STD := /02 — p? and its high-SNR
approximation is computed using the above expressions:

STD =~ \/E[log2 |h|?] — E[log |h[?]2,

which is a constant as a function of SNR. Hence X2 goes to zero as SNR increases.

On the other hand, in the low-SNR regime we use the approximation log(14+SNR) =
SNRlog, e to get

1~ SNRE[|h|?] log, e,
o? =~ SNRE[|h|*] log] e,

Hence, at low-SNR, we have that,

. VE[A'] - E[hPP?
7 E[|h[?]

= constant.

This makes sense because at high-SNR, the capacity formula is degree-of-freedom lim-
ited and changes in |h|? have a diminishing marginal effect, whereas in the low-SNR
regime, the capacity formula is very sensitive to changes in the overall received SNR
and hence even the smallest changes in |h|? affect the performance.

EXERCISE 5.11. The received SNR is given by ”h x” . Hence we need to maximize this

quantity over all x € C* such that ||x||* < P for fixed Ny and some constant P > 0.
By the Cauchy-Schwarz inequality, we have that

x| < R[]
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with equality if and only if x = ah for some constant scalar . Hence, the optimal
choice is

Ph
X = 0,
(I

which is exactly the transmit beam-forming strategy.
EXERCISE 5.12.

EXERCISE 5.13. 1. Let 1 =[1,1,--- ,1]T € RL. Then the channel equation is:
y=1lr+z (5.7)

where z ~ CN(0, NoI.) and x must satisfy the power constraint E[z] < P.

We note that we can project the received signal onto the direction of 1 obtaining
the sufficient statistic:

\/*zy =VLz+ 2 (5.8)

where Z ~ CN(0, Ny). Defining # = v/Lx we see that we have an AWGN channel

with power constraint LP and noise variance Ny. Therefore C' = log <1 + 2).

r =

No
We see that there is a power gain of L with respect to the single receive antenna
system.

2. Let h = [hy, hy, -+ ,hr]T € CL. Then the channel equation is:
y=hr+z (5.9)

where z ~ CN (0, NoIy) , h is known at the receiver and x must satisfy the power
constraint Ex] < P.

Since the receiver knows the channel, it can project the received signal onto the

direction of h obtaining the sufficient statistic:
Dy = e + 2 (5.10)
r=—y= T+ Z :
[

where Z ~ CN(0, Np). Then the problem reduces to computing the capacity of
a scalar fading channel, with fading coefficient given by ||h||. It follows that:

C=E {log (1+ Hh]llfzp)} —E {log (1+%”}2H2>] (5.11)

In contrast, the single receive antenna system has a capacity C' = £ [log (1 + %)} :

The capacity is increased by having multiple receive antennas for two reasons:
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. . hl|? .
first there is a power gain L, and second % has the same mean but less vari-

ance than |h|?, and we get a diversity gain. Note that Var [%} = 1/L whereas
Var[|h]?] = 1.
As L — oo, HhL”2 —a.s. 1, so it follows that C = log (1 + %) for large L.

3. With full CSI, the transmitter knows the channel, and for a given realization of
the fading process {h[n]}»_, the channel supports a rate:

R= % ;log (1 + w> (5.12)

and the problem becomes that of finding the optimal power allocation strategy.
We note that the problem is the same as the one corresponding to the case of a
single receive antenna, replacing |h[n]|* by ||h[n]||?. Tt follows that the optimal
solution is also obtained by waterfilling:

P = (5 - ) 5.3

where A is chosen so that the power constraint is satisfied, i.e. E[P*(||h|*)] = P.

The resulting capacity is:
h 2P*
C=r {log (1 n &)} (5.14)
No

At low SNR, when the system is power limited, the benefit of having CSI at the
transmitter comes from the fact that we can transmit only when the channel
is good, saving power (which is the limiting resource) when the channel is bad.
The larger the fluctuation in the channel gain, the larger the benefit. If the
channel gain is constant, then the waterfilling strategy reduces to transmitting
with constant power, and there is no benefit in having CSI at the transmitter.
When there are multiple receive antennas, there is diversity and ||h|?/L does not
fluctuate much. In the limit as L. — oo we have seen that this random variable
converges to a constant with probability one. Then, as L increases, the benefit
of having CSI at the transmitter is reduced.

[[h*P

P,.= Pr {log (1 + No

) < R] _pr {||h||2 < (2R 1)% (5.15)
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We know that we can approximate the pdf of ||h||?> around 0 by:

flx) = ! L (5.16)

where Rayleigh fading was assumed, and hence the distribution function of ||h||?
evaluated at x is approximately given by:

1
F(z) ~ ﬁxL (5.17)

for x small. Thus, for large SNR we get the following approximation for the
outage probability:
1

ut"\"ﬂ

P, {(21% — 1)%} ’ (5.18)

P

We see that having multiple antennas reduces the outage probability by a factor
of (2f — 1)X/L! and also increases the exponent of SNR™ by a factor of L.

EXERCISE 5.14. 1. The Alamouti scheme transmits two independent symbols u, us
over the two antennas in two channel uses as follows:

X = [“1 _Qﬂ .
To show that the scheme radiates energy in an isotropic manner, we need to
show that the energy in the projection of this codeword in any direction d € C?

depends only on the magnitude of d and not its direction. Let Efuju}] = 0 and
E[|u1)?] = E[|uzg|?] = P/2. We then have:

« | P 0l |d
atspxxa=la; a | ) [2] = Plal

2. Suppose that the transmitted vector x = [z1 5] is such that E[z;z3] = 0 and
E[|z1]?] = E[|z2]?] = P. Then, for any d = [d; dy]7,

d'E[xx]d = d'E {“’1] [+t 3]d = d'PId = P|d|?,

X2

hence the scheme radiates energy isotropically.

To prove the converse, assume that the scheme x = [z; x5]|7 is isotropic, i.e., for
any two vectors d, and dj such that ||d,||*> = ||ds||* = 1, we have that

diE[xx'|d, = d]E[xx']d,. (5.19)
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Then we must prove that E[z;z}] = 0 and E[|z]?] = E[|z2|?]. To see that this
must be so, first choose d, = [1 0]7 and d, = [0 1]7. Substituting this into (5.19)
we obtain that E[|z;]?] = E[|xa]?].

1 1
Now, choose d, = | 2|, and d, = | V2 |. Then, (5.19) yields
V2 V2

Ellz1|* + afas + 2135 + |22|*] = E[|1]* — 2}zs — 2125 + |22]?],

Hence we get that E[zxe + x125] = 0 which implies that Real(E[x}z,]) = 0.

1 1
Now, choose d, = _‘/51 ] ,and dy, = E . Then, (5.19) yields
V2 V2

ir r1Ts Tir 15
E[‘l’1’2+ ! - L 2+]$2\21:E[\x1]2— ;24‘ L 2+’$2‘2 .

J
Thus we conclude that E[zfxs] = 0 and we have established the converse.

Hence we get that E [mf? — “jﬁ} = 0, which implies that Imag(E[z}z2]) = 0.

EXERCISE 5.15. 1. A MISO channel is given by the following input-output relation:
ylm] = h'x[m] + 2[m],
with the total power constraint E[||x||?] < P. The received SNR is given by

ong - Elb'x? _ Ebbocdh)  hiKh
N No Ng

Thus this channel is equivalent to a scalar channel with the same received SNR.
Hence, the maximal rate of reliable communication on this channel is given by

h'K,h
C =log(1 + SNR) = log <1—|— ) :

0

2. Since the covariance matrix K, is positive semi-definite, it admits the decompo-
sition K, = UAUT, where A is a diagonal matrix and U is a unitary matrix.
Since the channel is i.i.d. Rayleigh, the vector h is isotropically distributed, i.e.,
h'U has the same distribution as hf. Thus the quadratic form

hK,h = h"UAU'h = (h'U)A(hTU)'

has the same distribution as hf Ah. Therefore, we can restrict K, to be diagonal
without sacrificing outage performance.
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EXERCISE 5.16.
EXERCISE 5.17.

EXERCISE 5.18. The outage probability of a parallel channel with L i.i.d. Rayleigh
branches is given by the following expression:

L
prarallel. _ p (Z log(1 + |h|*SNR) < LR) .

=1

Observe that the following inclusion holds:

L L
{Zlog(l + |m|2SNR) < LR} D ({log(1 + [m[*SNR) < R}.

=1 =1

Hence, since h;’s are i.i.d.,

PRl > P (log(1 + |Iy[*SNR) < R)".

out
Since the branches are Rayleigh distributed, we have that, at high-SNR,

2f 1\ 2R 1
SNR SNR

P (log(1+ |M|*SNR) < R) =P (|hl\2 <
Hence, the outage of the parallel channel at high-SNR satisfies

2R — 1\ "
Pparallel > )
ot =\ SNR

A simple upper bound that exhibits identical scaling with SNR is obtained by observing
that

L L
{Zlog(l + |hi|*SNR) < LR} C ({log(1 + |h[’SNR) < LR},

=1 =1

hence yielding

2LR 1\ "
Pparallel < )
ot =\ SNR

The SNR scaling of the lower and upper bounds is identical, though the pre-constants
are slightly different. However, a more precise analysis can be done (see Section 9.1.3,



Tse and Viswanath: Fundamentals of Wireless Communication 88

equation (9.19) and Exercise 9.1)) which shows that the lower bound is actually tight,
i.e., the outage probability scales as

Pparallel ~ (2R - 1)L
out SNR
when the rate is given by R = rlogSNR for 0 < r» < 1. We now give a heuristic
argument as to why this is true. For the complete proof, see [156], Theorem 4.
Let R = rlogSNR and let |y|* = SNR™, for o € R and [ = 1,..., L (observe
that we can always do this since |;]? is a non-negative random variable). The |h;|?

are independent and exponentially distributed with mean 1, i.e., the joint density pj,
is given by

L
ou([ha)?, .. [y |?) = e Sz Il

Applying the change of variable to the above density, we obtain the joint density of
05l787 Do

palay,...,ar) = (log SNR) e~ Siti SNRTTGNR - Zitr o

Now, we can express the outage probability as

L
Pé)uatrrallel _ (H 1 +SNR|h[ ) 2LR) 7
=1

P (SNREF (700" < o),

= P (ZL:(l —a)t < Lr) :

=1

Q

+

where, we've used the high-SNR approximation (1 + SNR|Iy|?) ~ SNR( o) (the
function (x)*, denotes max{0,z}). Hence, the outage probability is given by the
following integral:

out

Pparrallel / (log SNR)LG_ ZlL:l SNR™ < SNR™ Zlel Oéldal S..Qp,
A

where A = {al, apeR:YE (1—a)t < Lr}. Since we are considering the high-

SNR regime, the term (log SNR)™ has no effect on the SNR exponent. Furthermore, the

term e~ 2ici SNR™™! decays exponentially with SNR for o; < 0, so we can concentrate

only on a; > 0. Moreover, the exponential terms approach 1 for oy > 0 and e for
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a; = 0. Hence, the exponential terms have no effect on the SNR exponent. Thus, we
can approximate the outage probability as

pramalel [ SNR X% day L ay,
A+
where A1 = {oq, coap>00 Zle(l —a)t < Lr}. By Laplace’s principle of large

deviations, we have that the integral above is dominated by the term with the largest
SNR exponent. Thus,

Pg)&rrallel ~ SNR™ inf 44 ZlL:1 o

It can be verified that inf 4+ 3./, @y = (1 — ) L. Hence, we have that

L
Pparallel ~ 2R
out S N R .

when the rate is given by R = rlog SNR for 0 < r < 1.

EXERCISE 5.19. 1. If we transmit the same signal z[m] on each of the parallel chan-
nels, the received signal can be written as:

y[m| = hz[m| + z[m].

The optimal receiver performs maximal ratio combining and hence this channel
becomes equivalent to a scalar AWGN channel with received signal-to-noise ratio
given by ||h||?SNR, where SNR is the per-channel signal-to-noise ratio on the orig-
inal parallel channel. Now, suppose that the rate requirement is R bits/sec/Hz
per channel. Then, this scheme has outage probability given by

Pgﬁgetltlon — P(10g<1 + ||h||2SNR) < LR) = P (Hh”2 < SNR ) )

1 (28R —1\*

L! ( SNR ) ’

where the last line comes from the high-SNR approximation of the distribution
of h (chi-square with 2L degrees of freedom).

Q

2. Using the result of Exercise 5.18, we see that in order to guarantee the same
outage probability, we require a larger SNR in the repetition scheme then the
minimal required SNR dictated by the outage performance of the channel. In
particular, let SNRparanel and SNRyepetition be the minimum required SNR and the
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SNR required under repetition coding, respectively. Then, in order to have the
same outage probabilities, we need that (at high-SNR),

2R L 1 2LR L
( SN Rparallel ) - E ( SN Rrepetition ) ’

and consequently we obtain that
S N Rrepetition 2R(L71)

SNRparallel (L')l/L .

For instance, with R = 1 bps/Hz, and L = 5, the repetition scheme requires
roughly 18 dB more power over the minimal power requirement to achieve the
required outage performance.

3. For small x > 0, log(1+x) =~ xlog, e. We use this for the low-SNR approximation
for both the outage probability of the repetition scheme as well as that of the
parallel channel itself. Hence we have that

L
LR
pramaliel . p (Z log(1 + |h|*SNR) < LR) ~P (HhH? < SNToge) ,
=1 2
repetition 2 2 LR
Pout = P(log(l + ||h|| SNR) < LR) ~P ||h|| < SI\IR—loge ,
2

hence the outage performance of the repetition scheme is approximately optimal
in the low-SNR regime.

To conclude, in the high-SNR regime, the AWGN parallel channel is degree-of-
freedom limited and the repetition scheme performs poorly in this regime since it
is wasteful of the available degrees of freedom (independent channels) by virtue
of sending the same information on all of them at any given time-slot. However,
at low SNR, the channel is SNR limited and this shortcoming of the repetition
scheme is not evident since the scheme does reap the receive beamforming (co-
herent combining) benefit and hence match the power gain achievable by any
other scheme.

EXERCISE 5.20. 1. The low-SNR e-outage probability approximation of the parallel
channel is given by (see Exercise 5.19, part 3):

LC
P(|Ih/|?< —— | =
(H | SNRlong) &

where C. denotes the per-channel e-outage capacity, i.e., the largest rate achiev-
able while maintaining outage probability below e. Let F(z) = P(||h||* > z) be
the complementary CDF of h. Then we have that

1
C.= ZF_l(l — ¢)SNRlog, e.
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2. For Rayleigh i.i.d. fading branches, F~1(1 — ¢) ~ (L)Zez, and so

1
C.= Z(L!)%E%SNRlog2 e,

is the per-channel outage capacity.

3. The delay-spread of the channel is 1us. Hence, from equation (2.47), page 33,
we know that the coherence bandwidth is m = 0.5 MHz. But the available
bandwidth is 1.25 MHz. Hence, if we exploit the frequency coherence, we can have
two independent, parallel channels in frequency. Also, since our time constraint
is 100ms and the coherence time is 50ms, we have two parallel channels in time.
This makes a total of four parallel channels that we can exploit. Consequently,
we let L = 4 in our calculations.

Since the SINR per chip is —17 dB and the processing gain is G = W/R =
1.25MHz x 100ms = 125000, the SINR per bit per user is roughly 34 dB. Plugging
in these values into the formula given in part (2) of this question, we get that
Co.01 is roughly 631 bps/Hz/user.

On the other hand, the capacity of the unfaded AWGN channel with the same

SNR is roughly 3607 bps/Hz. Thus the 1%-outage capacity of this parallel chan-

nel is roughly 17.5% of the unfaded AWGN channel with the same received SNR.
Solution 5.21:

1. Using only one antenna at a time, we convert the MISO channel into a parallel
channel. The maximal rate achievable with this strategy is given by:

L
1
Cparallel — Z § :log(l + |hl|QSNR),
=1

compared by the capacity of this MISO channel (observe that the channel gain
is constant and known to both the transmitter and receiver):

CMISO — Jog(1 + ||h||*SNR).
At high-SNR, we can approximate the two rates as follows:
1 L
Crrlel & log SNR + = > log [,
=1
CMISO ~ 1og SNR + log ||h%.

Hence, at high-SNR, the ratio of the two rates goes to 1.
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2. At low-SNR, we can make the following approximations:

L
1 1
Cwaraliel Z§ :]hl|QSNR10g2€ — ZHhHQSNRlog2 e,
=1

CMSO ~ ||h||>SNRlog, .

Thus, the loss from capacity goes to % as SNR — 0.

The parallelization scheme is degree-of-freedom efficient so at high-SNR its per-
formance is close to the optimal performance on the MISO channel due to the
fact that the AWGN MISO channel is degree-of-freedom limited at high-SNR.
However, the optimal strategy is for the transmitter to do beamforming (having
knowledge of the channel) and hence harness the power gain afforded in this way.
The parallelization scheme does not perform beamforming and hence suffers a
loss from capacity in the SNR-limited low-SNR regime.

3. The outage probability expressions of the MISO channel and the scheme which
turns it into a parallel channel are given by:

L
praraliel . p (Zlog(l—i— |hi|*SNR) < LR),
=1

PMC = P (log(1+ ||h|*SNR) < R).

out

Assuming i.i.d. Rayleigh fading, we can use the result of Exercise 5.18 to obtain
the high-SNR approximations:

L
Pparallel ~ 2R —1
out S N R )

L
PMISO 1 2f —1
out L!'\ SNR ’
hence, the outage probability of the scheme which converts the MISO channel

to a parallel channel is L! times larger than the actual outage probability of the
MISO channel at high-SNR.

At low-SNR, we have

CMISO ~  F7(1 — €)SNRIlog, e,

1
Ogarallel ~ EF_I(l — e)SNRlOg2 €,

hence, the outage capacity of the scheme is L times smaller than the outage
capacity of the MISO channel at low-SNR.
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EXERCISE 5.21.
EXERCISE 5.22.

EXERCISE 5.23. 1. For the AWGN channel the maximum achievable rate is given

by: ~
P &R
R=Wlog 1 — Wlog (1 5.20
o8 ( + NOW) o8 ( + N0W> (5.20)

where we used P/R = &,.

Then, the minimum required &,/Ny for reliable communication is:

()., = m e 521

For the IS-95 system we get (f,—’;) = 0.695 = —1.58dB.

req

At low SNR R/W is small, and we can approximate 2%/ = exp[(R/W)In 2] ~
14+ (R/W)In2, to get

é’b)
— ~In2=—1.59dB 5.22
(NO req ( )

and we see that as the SNR goes to zero, the minimum &,/N, requirement is

-1.59dB.

2. Since we are forced to repeat each transmitted symbol 4 times, we consider the
received signal in a block of length 4:

y=1lx+z (5.23)

and use 3.a) to conclude that I(z;y) < log(1l + 4P/Ny) where the upper bound
can be achieved by choosing the input distribution to be CN(0, P) i.i.d.. Then
the maximum achievable rate (in bits/s/Hz) of this strategy is:

1 4P
=-1 14+ — 24
which is strictly smaller than log(1+ P/Ny), the capacity of the AWGN channel.
The loss is due to the concavity of the log(:) function. For small z, log(z) is
approximately linear and the loss due to concavity is small for low SNR. On the
other hand, repetition coding has a large loss for high SNR.

3. Loss is greater at high SNR where the loss of d.o.f. is felt more.
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4. For repetition coding the minimum &,/Ny required for reliable communication is

given by:

ﬁ B E 24R/W -1
No), R 4

The increase in &,/Ny requirement is:

(%)
8o peqrep) 21V 1

=) 2RV 1)
No req(AWGN)

For the IS-95 system this loss is only 0.035dB.

EXERCISE 5.24. 1. The channel model is
ylm] = him]az[m] +w[m],
and the rate it can support when channel state is h{m] is

|[m]|* P (h[m])
NO ) )

Rzlog(1+

Using channel inversion to keep a constant rate R, we need

(QR —1)Ny
P(h[m]) = ~———5—
AP
Thus the average power needed is
1
E[P] = (2F — 1)N,E [ ———
F1=@" - 0 ()
>~ 1
= (2f — 1)N0/ —e "dx
0 T

M
1
> (27 — 1)N0/ —e “dx
0

T

M
1

> (28 — 1)N06M/ —dr = o0
0

2. The Channel model is

ylm| = hym]z[m] +w[m], 1=1,... L

(5.25)

(5.26)
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and the rate it can support when channel state is h[m] = (hi[m], ..., hp[m]) is
1 [h[rm][* P(h[m])
R=-1 1 .
5 og ( + N

Using channel inversion to keep a constant rate R, we need

(2% — 1)N,

P(h[m]) = Tl

Since |h[m]|? is a x? distribution with pdf

ol
the average power needed is
1
E[P] = (2% — 1)NoE (—)
[b[m][?

B (2R —1)N,
- L-1
3. Assume the noise w ~ CN(0,1), for different target rate and L, the average
power is plotted in the following figure.
We can see that the power needed is decreasing with increasing number of receiver

antennas (actually inversely proportional to L — 1).

EXERCISE 5.25. 1. Using optimal scheme, the capacity is
C' = Wlog(1+ SINR),

where W = 1.25MHz. Hence the SINR threshold for using capacity achieving
codes is o
SINR =2w —1

The following table compares the SINR threshold of using capacity achieving
codes to that of IS-856. The differences are always larger than 3dB. So the codes
in IS-856 are not close to optimal.
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7 T
\ — R=1b/s/Hz
\ — R=2b/s/Hz
\ — — R=3b/s/Hz
611\ B
\
\
\
gl ,
\
\
\
@ al \ |
2 \
a \
g \
g \
> 3+ \ |
< \ \
\ \
\ N
N
2+ AY N .
\
\ RS
N Il
> T~ ~
1 o e R
0 I I 1 T i S —
2 4 6 8 10 12 14 16

Number of Receiver Antennas

Requared rate(kb/s) | Optimal SINR threshold(dB) | SINR threshold using IS-856(dB)

38.4 -16.7 -11.5

76.8 -13.6 -9.2

153.6 -10.5 -6.5

307.2 -7.3 -3.5

614.4 -3.9 -0.5

921.6 -1.8 2.2

1228.8 -0.1 3.9

1843.2 2.5 8.0
2457.6 4.6 10.3

2. When repeated L times, the capacity is

C= %log(l + L x SINR).

So the threshold SINR is
SINR = 2 1

==

When C' = 38.4kb/s, W = 1.25M Hz, and L = 16, the SINR threshold is -16.0
dB. Compared to -16.7 dB computed in part (1), there is not much performance
loss from the repetition.

1. Given

hlm + 1] = VI — 6h[m] + Vowm + 1]

EXERCISE 5.26.
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the auto-correlation function of the channel process is
R[n] = E [h*[m]h[m + n]]
= E [h*[m)(v1 = 6h[m + n — 1] + Vow[m +n — 1])]
= V1= 0E [h*[m]h[m + n — 1]]
=V1—6R[n—1].
Thus
R[n] = (V1 —=06)"R[0] = (V1— )"
2. If coherence time is T, and sampling rate is W =2 x 1.25M H z, then
(VI —8)"T = 0.05
leads to ,
d=1—(0.05)"wr

So for T, = 25ms (walking), 6 = 0.0000958; for 7, = 2.5ms (driving), § =
0.000958.

3. Since h[0] and h[n] are jointly Gaussian, the optimal estimator is MMSE.

~

hn] = E[h[n]|A[0]]
_ E[p[0]A
E[|h[0

[\

4. From the property of MMSE for jointly Gaussian random variables, we can write
h[n] = hln] + he[n],

where the estimation error h¢[n| is independent of h[n], with variance

= E[|he[n]|?]

o _ Bl (0[] E[A[0] n]
= E[|h[n]]"] — E[|n[0]]?]
=1-(1-0)"

For IS-856 with 2-slot delay in the feed back,
o2=1—(1-6"=1-(0.05)%r,

where n ~ 4000. For T. = 25ms (walking), o = 0.318; for T, = 2.5ms (driving),
02 = 0.978.
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EXERCISE 5.27.
EXERCISE 5.28.
EXERCISE 5.29.

EXERCISE 5.30.



Chapter 6

Solutions to Exercises

EXERCISE 6.1. Channel model is
ylm] = a1[m] + 25[m] + wlm].
The signal power at receiver is
P = E[(z1[m] + z2[m))?] = Py + Py + 2E[z[m]zs[m]].

When the two users can cooperate, they can choose the correlation of x;[m] and x5[m)]
to be one and thus get the largest total power

P:P1+P2+2\/P1P2,
and hence the maximum sum rate they can achieve is

P1+P2+2\/P1P2)
+ N .
0

Ceoop = log (1

In the case of P, = P, = P,

14+4P
Ccoop - IOg < NO ) )
whereas the sum rate without cooperation is
1+ 2P
C'nocoop = log ( * ) .
0
At high SNR,
Ceoop ~ log(4P/No) —1 as P — oo.
Chowoop  10g(2P/Np)
At low SNR,

Ceoop 4P/ Ny
C’nocoop n 2P/N0
Thus in lower SNR region the cooperative gain is more effective.

=2 as P —0.

99
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EXERCISE 6.2. For orthogonal multiple access channel the rates of the two users satisfy

P
Ry < «al 1+ —
1 aog( +aN0)

Ry < (1-a)log (”u—Pﬁ)

When the degrees of freedom are split proportional to the powers of the users, we have

P
a= .
P+ P

Thus the sum rate satisfy

Pl P1 P2 PQ P1+P2
Ri+Rs < log 1 log [ 1+ —p2— | =log (1
A ) Og( T h N0>+P1+P2 0g< " h NO) Og< TN )

P+P Pi+P

which is the optimal sum rate.
For arbitrary split of degrees of freedom, from the strictly concavity property of
log(1 + x), we have

Py Py
1 14— 1—a)l 14—
R+ Ry < « og( +04N0)+( @) og( +(1—a)N0)
Py Py
<1 1 —+(l—a)—————
B Og( i (aaN0+( a)(l—@)N0)>
P+ Py
=1 1
og(—l— N, >,
and equality holds only when
PP
a (1—a)

that is when the degrees of freedom are split proportional to the powers of the users.
Any other split of degrees of freedom are strictly sub-optimal.

EXERCISE 6.3. The symmetric capacity is

1 P+ P
C’sym:§log<1+ 1+ 2).

0

There are three scenarios of capacity region shown in the following Figure.
In scenario I and II, the point A is superior to the symmetric rate point, in scenario
III we do not have a superior point.

EXERCISE 6.4.
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EXERCISE 6.5.
EXERCISE 6.6.
EXERCISE 6.7.
EXERCISE 6.8.
EXERCISE 6.9.
EXERCISE 6.10.
EXERCISE 6.11.

EXERCISE 6.12. Let e; means the event of decoding incorrectly at stage 7, and e means
the event of decoding correctly at stage ¢, then the probability of error for the kth user
under SIC satisfies

pe =P (e[ J(eales) U esles, ) -+ U teles - e51)

< P(ey) + P(eglel) + -+ - + Plegle] ... ef_q)
k

=> p,

=1
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where pi) = P(e;|eS...e¢_,) is the probability of decoding the ith user incorrectly
assuming that all the previously users are decoded correctly.

T _ 2 BT,
N()C and SNRy = |h2| TOC.

EXERCISE 6.13. In the following we denote SNR; =
1. By neglecting user 2 and using training signal x;[m], we have
ylm] = hy[m]zm] + w[m].

Let hy[m] be the estimation of channel state hi[m], then the MMSE of hy[m)]
from y[m] can be calculated using (A.85) in Appendix A, and it is

E [|h1]?] No
[[ha]?] llz¢]|* + No
T 0.2P,T. + N,

1

T 02SNR; +1°

E | (] = hulm))?] = =

2. The channel can be written as

~

y[m] = ha[m]zi[m] + ha[m]za[m] + (hi[m] — ha[m])a1[m] + w[m],

where the SIC decoder can subtract hy[m]x1[m] from channel estimation and user
I’s signal. The term (hy[m]—hq[m])z1[m]+w[m] is the noise plus the interference
from inaccurate estimation of the channel. Thus

E (bl — hufrml )] + wlm)?] = G+ N,

and the SINR of user 2 is

|h2|2P2Tc

PT.
(0.251\11£1+1 + NO)
B SNR,

SNR;

<0.2SNR1+1 + 1)
B SNR5(0.2SNR; + 1)
N 1.2SNR; +1

SINR, =

The numerical calculation is shown in the following figure. We can see that the
degradation is worse if the power of user 1 increases. This is because user 1’s
signal is the interference to user 2 due to inaccurate estimation of the channel,
and with the increase of the power of user 1, the interference also increases, hence
the SINR for user 2 decreases.
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3. If user 1 is decoded correctly, then we can estimate the channel state from both
the training symbol and user 1’s signal. That is, we estimate h[m] from y; and

1o where

y1 = hxy + wy,
Y2 = h1z1 + w.

Using (A.85) in Appendix A, we have

; E [[71]%] No
E (b —h)?] =
=) = el + e )+ N

- PT.+ N,
B 1

- SNR; +1°

Using the above estimation error to redo part(2), we get
SNR»

SINR, =

(s +1)
_ SNR(SNR; + 1)
~ 2SNR; +1

091

0.8

—— channel estimation from training only
— — improved channel estimation

0.7
|

0.6

SINRZISNR2

05

0.4

0.3

0.2

0.1 L
P1/N0

I I I I
0 1000 2000 3000 4000 5000 6000 7000 8000 9000

10000

From the figure we can see that the SINR for user 2 improves, especially at high

P,/N,.
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EXERCISE 6.14. 1. At very high SNR, we have

>y Plhal? P
1 1+&== " | ~log —
og ( + N, og N

fork=1,2,... . K.
Thus for any S C {1,..., K}, we have that

Eiesp‘hiP)

1 1
|S|R > og( + No

is approximately equivalent to

1 P
R> —log —
5] 7% Ny

at very high SNR, and hence the dominating event for p2, is when |S| = K, that
is, the one on sum rate.

2. At high SNR,

K
Pout = P {KR > log(1 + SNRZ ]hk|2)}
k=1
K
9KR _ 1
=P hi|* <
{kz_;‘ ¢ SNR }
1 [2KR 1\ ¥
~ K SNR)
Let
1 foKerm 1\ "
ﬁ( SNR ) -
we get

1
Com = —log (1+ SNR(K!le)'/X) .

3. At very high SNR,

Ccom Llog (14 SNR(Kle)/ )
c. log(1 + eSNR)
_ 1 log(SNR) + log(K!e)"/*
~ K 10g(SNR) + loge
1
~ o
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EXERCISE 6.15.
EXERCISE 6.16.
EXERCISE 6.17.
EXERCISE 6.18.
EXERCISE 6.19.
EXERCISE 6.20.
EXERCISE 6.21.

EXERCISE 6.22. The probability that no one user sends a request rate is the probability
that all users’ channel is less than v, that is

K
P{no one sends a request rate} = H P{user k’s channel is less thanvy}

k=1

K

= | [ P{l7[*SNR < 7}
k=1
_ (1 . 6—-\//SNR)K
= (1 - 6_7)K7
where we used SNR = 0dB = 1. We need this probability to be ¢, thus
(1 - ei’y)K =6

and the solution for I is
v=—In (1 —el/K) .

Now, the probability that any user sends a request is
p=e’,

and the number of users that sends in a requested rate is a Binomial random variable
with parameter p, hence

E[number of users that sends in a requested rate] = Kp = Ke 7 = K (1 — el/K) :

The expected number of users that sends in a requested rate for different K and €
is shown in the following figure.

EXERCISE 6.23.
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4.5 E—

w

o
T

X

Expected number of feed back users
N
&
T

N
T

15+

1 1
0 10 20 30 40 50 60 70
Number of users

EXERCISE 6.24.
EXERCISE 6.25.
EXERCISE 6.26.
EXERCISE 6.27.
EXERCISE 6.28.
EXERCISE 6.29.

EXERCISE 6.30.
EXERCISE 6.31. 1. Under Alamouti scheme, the effective SNR is
SNR
ur = (|]* + \h2|2)T>

for the single antenna case, the effective SNR is
Uy = |]’L1|2SNR,
where h; and hy are i.i.d CAV(0,1). Hence the distributions are

2 2uq _2ug
fl(ul) - SNR <SNR> € SNR,
1 ug

€ SNR

faluz) = goge o
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Figure 6.1: Probability distribution functions

2. From the plot in part (1), we can see the probability that effective SNR is low
is smaller for the Alamouti scheme. So we expect that dual antenna can provide
some gain. Rigorous proof is as follows.

Let C'4 be the capacity for Alamouti scheme, and Cs be the capacity for the
single antenna case, we have

Cs = E [log(1 + |h1|*SNR)]

1 1

=E [log(1 + |m|*SNR)] + HF [log(1 + |ho|*SNR)]
2 2

<E {log (1 + MSNR)]

= CA?

where in the first step we used the fact that |h;]? and |hy|? are i.i.d, and in the
second step we used the Jensen’s inequality.

3. When there are K users, assume SNR = 1, we have

For the Alamouti scheme, the effective SNR is u; = 1 lmal)g(\hlk|2 + |hox|?), and

1
P (— max (|hix]? + |hax|?) < :13) =(1-(1+ 2:E)6_2I)K,

2 k=1,...K
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Figure 6.2: Cumulative distribution functions

SO
filur) = 4Kuge ™ (1 — (14 2uy)e 2) 7

Thus the capacity under Alamouti scheme is

Cy= / AKue” 2 (1 — (14 2u1)e_2“1)K71 log(1 + uy)du;.
0

For the single antenna case, the effective SNR is uy = max |hi|?, and

IP’( max |hg|* < x) =(1- e””)K,
k=1, K

S0

K-1

folug) = Ke™ (1 — e’“z)

Thus the capacity for the single antenna case is
Cg = / Ke 2 (1 — e_“Q)K_l log(1 + ug)dus.
0

The achievable throughput under both schemes at SNR=0dB for different number
of users is shown in Figure 6.3.
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Figure 6.3: Throught vs. number of users

4. We can see from the plot in part (3) that single antenna scheme performs better
than the Alamouti scheme when K > 2. So in this case we do not need use dual
transmit antenna. This is because the probability of getting one good channel is
larger than getting two good channels.



Chapter 7

Solutions to Exercises

EXERCISE 7.1. 1. Refer to Figure 7.3(a) in the textbook, we have

di = (4> + ((i — 1)AN)? + 2(i — 1)dA, A cosg)

L 2 - 1/2
(s (e 2 k)

For large d (large compare to the size of receiver antenna array), we can expand
the above equation to the first order term and get

i~ d (1 N %2(@ — 1)§T)\ccos¢

) =d+ (i — 1)A, \ccoso,

which is equation (7.19).

2. From Figure 7.1 we have

d?, = [d — (k — 1) A cos ¢y + (i — 1) A\ cos ¢,]
+ [(k — 1) A sin gy — (i — 1)AAesin ]
~ d® —2d(k — 1) Ai\ecos ¢y + 2d(i — 1) A\ cos ¢,

for large d. Hence
1/2

1 1
dip. ~d |1 — c_l(k — 1)AA. cos ¢y + E<Z — 1)A, A cos ¢,

=d— (k—1)A\ccosdy + (i — 1)A A cos by,

which is equation (7.27).
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Kk

(k — )AL,

d;p;

EXERCISE 7.2.

We have

Figure 7.1: MIMO case

1
exp(—j2mA,Q)
exp(—j2m2A,Q)

| exp(—j2m(n, — 1)A,Q) |

1
exp(—j2mA,Q) exp(—j2m)
exp(—7j2m2A,Q) exp(—jdm)

| exp(—j2m(n, — 1)A,9) exp(—i2(n, — 1))

Hence e,(£?) is periodic with period A%.

Next suppose there exists a 0 € (0, %) such that

e(2+0) =

NG

| exp(—j2m(n, — )AQ) exp(—j2(n, — 1mA,6) |

1

exp(—j2mA,Q) exp(—j21A,0)
exp(—j2m2A,Q) exp(—jdmA,0)
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and we must have exp(—j27A,0) = 1. Clearly there is no 0 € (O, A%) such that

L

exp(—j2mA,0) = 1. So the smallest period is z-.

EXERCISE 7.3.
fT(Q’I‘) = fr(QTQ - er) = er(er)*er(QTQ)
1
= [1 exp(j27mA, Q1) exp(72m2A,81) ... exp(j2m(n, — 1)A Q)]

T

1
exp(—j2m A Qo)

x exp(—j2m2A,82)

| exp(—j2m(n, — 1)A, Q) |

1
= — [1 4+ exp(—j27A,Q,) + exp(—j272A,Q,) + - - - + exp(—j27(n, — 1)A,Q,)]
nr

1 1—exp(—j2mn,A,Q,)

n, 1— exp(—72mA€,)

exp(—jmn,A€,) " exp(jmn, AQ,.) — exp(—jmn,.A,,)
n, exp(—jmA,Q,) exp(Jm A Q) — exp(—jmA,£,)
exp(—jm(n, — 1)A€,) " sin(mn, A€,.)

ny, sin(mA,€Q,.)
_exp(—jm(n, — 1)A,Q,) sin(mw L€,
B N sin(r L, /n,)’

which is equation (7.35).

EXERCISE 7.4. The degree of freedom of MIMO channel depends on the angular spread
of the scatters/reflectors, and depends on the antenna array length. There are two
problems of (7.82).

1. The degree of freedom depends on the antenna array length, which determines
the resolution of the channel. Simply increasing number of antenna does not
necessarily increase channel resolution.

2. The number of multipath does not have direct impact on the degree of freedom,
it is the angular spread that influences the degree of freedom.

EXERCISE 7.5.

EXERCISE 7.6.

EXERCISE 7.7.
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EXERCISE 7.8.
EXERCISE 7.9.
EXERCISE 7.10.

EXERCISE 7.11.



Chapter 8

Solutions to Exercises

EXERCISE 8.1. Consider the singular value of decomposition:

H = UAV.
Then, the channel model

y = Hx-+w,
can be rewritten as

y = Ax+w,

where y = U*y and x = Vx. Moreover, X has the same total power constraint as x
since V is a unitary matrix. Thus, the channel capacity depends only on the singular
values of H for a total power constraint. But, H* has the same non-zero singular values
as H and hence the capacity of the reciprocal channel is same as the original channel.

EXERCISE &.2.
EXERCISE 8.3.

EXERCISE 8.4. 1. Let A = HU. Then, A is zero mean. Let a; and h; denote the
1th columns of A and H respectively. Then,

— U*,IU,
(SZJI
Also,

Elaja;] = U'E[h}h;|U,
= 0.

Thus, A has i.i.d. CN(0, 1) entries.
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2. Consider the eigenvalue decomposition of K,:
K, = UDU",

where D is a positive diagonal matrix and U is a unitary matrix. Then, the
mutual information can be written as:

1 1
Fy {log det (I + FHKIH*>] = Fn {log det (I + F(HU)D(HU)*)} :
0

0

1
= Fuu {log det <I + F(HU)D(HU)*)} :
0
1
= Fn {log det (I + —HDH*)} ,
No

where the last step follows from the first part. Moreover, we also have Trace(K,) =
Trace(D). Thus, the input covariance matrix can be restricted to be a diagonal
matrix.

3. Note that logdet(X) is a concave function of X for positive definite X (see
Page 74 of Conver Optimization by Stephen Boyd and L. Vandenberghe). Also

I+ HDH* is linear in D. Thus, the function log det <I + N%)HDH*) is concave

in D. Moreover, the function is symmetric in the diagonal entries of D: this
follows from the fact that reordering rows of H does not change the distribution
of H. Thus, for a trace constraint on D the mutual information is maximized
when D is a multiple of the identity matrix.

EXERCISE 8.5. 1. Multiple receive antennas provide a power gain which is very
crucial for a wideband CDMA system which works at low SNR. However, the
gain is not very crucial for a narrowband GSM which works at high SNR. The
gain can be crucial for a wideband OFDM system if the mobile device is on the
boundary of a cell and hence is working at low SNR.

2. Multiple transmit antennas can provide a degree of freedom gain for the high
SNR narrowband GSM system. However for a wideband CDMA system, the
transmit antennas will not be useful as the optimal coding strategy will be to use
a single transmit antenna at low SNR. Similar arguments work for the wideband
OFDM system depending which SNR regime it is working in.

EXERCISE &.6.

EXERCISE 8.7.
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EXERCISE 8.8. 1. The pilot signal with transmit power SNR will estimate the chan-

nel H with an mean squared estimation error of order of SNLR. This estimation
error in the channel multiplied by the transmitted signal will act as an addi-
tive noise during rest of the communication. Thus, while communicating, the
effective noise seen by the receiver is the additive Gaussian noise and the noise
due to estimation error of H which is of the order SNRS,\+R = 1. Thus, for the
effective coherent channel, the total additive noise has a bounded variance for
any SNR. Thus, for £ x n, channel, assuming that effective noise is Gaussian
(worst-case assumption) the channel capacity for the effective coherent channel
is lower bounded by min(k, n,)log SNR. But since k time slots were used for the

pilot scheme, the effective rate of communication is given by at least

T.—k

min(k, n,)log SNR bits/s/Hz

Cc

2. With n; transmit antennas, we only need at most n; time slots for training.
Additional training time can only hurt the overall rate at high SNR. Thus, we
have k < n;. Now, if n, < ns, then we only use n, transmit antennas. As
other antennas will not provide a degree of freedom gain. Thus we also have
k < min(n,,n;). Now, if k < min(n,,n;), L=k is increasing in k for k < T,/2
and decreasing for k > T,./2. Thus, the optirr;al value of k is given by:

k* = min(n,,n,T./2).

EXERCISE 8.9. Consider the channel from a particular transmit antenna ¢ to a par-
ticular receive antenna j. This channel can be modeled as a simple scalar ISI channel
with tap coefficients H;(7, 7). For this channel, the usual scalar OFDM scheme will
yield N, tones define by:

L-1
~ j2mnl
Hn(%]) = ZHl(i>j)e_ Ne .

=0

Now, for the original MIMO channel, we can look at each receive antenna separately.
For each receive antenna, signals transmitted from different transmit antennas add
linearly at the receiver. Since the OFDM scheme is a linear operation, the overall
effective OFDM channel for one particular receive antenna can be written as the sum
of the individual OFDM channels. Now, for the original MIMO channel, since for each
receive antenna, the OFDM scheme is the same, we get that the overall OFDM scheme
can be written as:

L-1
~ _ j27mnl
H, = E H;e 7 .
=0
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EXERCISE 8.10. For a fixed physical environment (i.e., fixed H), the capacity for a
total power constraint P is given by

max W logdet (I +

Trace(Kz)<P

HK H* i :
A ) bits/sec

This can be rewritten as:

max W logdet (I +

Trace( %)S 1

Koo :
NOWH?H> bits/sec.

When, both P and W are both doubled, the corresponding capacity can be written as:

Trace(%)gl NOW 2P

K,
2 max Wlogdet (I—l— H—H*) bits/sec.

Since the two optimization problems are essentially the same, the optimal solution for
the second case is given by K = 2K*. Therefore the capacity is exactly doubled.
EXERCISE 8.11.

EXERCISE 8.12.

EXERCISE 8.13.

EXERCISE 8.14.

EXERCISE 8.15.

EXERCISE 8.16. The general capacity expression is given by:

NR
¢ = F {log det (Inr + > HH*)] :

Ty

The apparent paradox is because of the behavior of log det <Inr + %HH*) At low
values of SNR it behaves like log (Trace (S'T:'—tRHH*>>, whereas at medium SNR it

behaves like log det (S'T:'—tRHH*> Thus, we have the following consistent behavior:

Cln Cnn
low SNR nSNR nSNR
medium SNR | log SNR + logn | nlog SNR

EXERCISE 8.17.

EXERCISE 8.18.
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EXERCISE 8.19.

EXERCISE 8.20. For matched filters, the interference seen by the kth stream is given
by:

2 Tl |

Thus, the variance of the interference seen by the kth stream is approximately given
by:

< Ty

Therefore, the rate for the kth stream is given by (assuming the worst-case assumption
that the interference is Gaussian):

| Prc| [l 2
Ry = E|log <1+ ﬁgllik|| )

itk ML e T No

. A
— E|log <1+ N“lehf” >

ik Thyl[ No T 1

- P,
E |1 1+ —=||h||?
_Og( +N0|| kH)}’

E —Hhkw],

)

I

Q

Q

where the last two steps follow from the low SNR assumption. Thus, the total sum-rate
is given by:

SNR
2B = S =3 B[,
t
k k
= n,SNR,
which at low SNR is the capacity of a 1 x n, channel (see Soln 8.16).
EXERCISE 8.21.

EXERCISE 8.22. We use the following matrix identity which follows from the matrix
inversion lemma:

log |A + xx*| —log |A] = log(l +x"A'x). (8.1)
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Taking x = %hl implies:

log det (I + Z h h*) —log(1+SINR;) = logdet (I + Z h h*)

Similarly, taking x = ﬁ—’;hk we get:
logdet [ I+ Z h h? | —log(1+ SINRy) = logdet [ I+ i ih,;h’.k .
i=k+1 No "

Adding all such equations, we get:

log det (I + Z h h*) = Z log(1 + SINR;).
i=1

Thus, taking K, to be a diagonal matrix with entries P; we get:
1 -
logdet ( 1+ —HK H | = log(1 4+ SINR;).

EXERCISE 8.23. We have the following sequence of steps:

—~
S
N

Pout(R) > P{logdet (I, + SNRHH") < R},
®)
> P{SNRTr[HH"] < R},
(© it
> P {SNR|h11|2 < i } ,
TNy
@ <1 - e_wnifSNR>mm ,
(3 R™Mnr
- (n,n;SNR)menr”

Each of these steps can be justified as follows:

e (a): follows from letting each antenna power be SNR rather than SNR/n;.

e (b): follows from the equation: SNRTr[HH*] < det (I,,, + SNRHH*) and hence
a simple set theoretic containment relationship.

e (c): again follows from a simple set theoretic containment relationship:

{SNR|hij|2 < : } C {SNRTr[HH"] < RV i, j},

and the facts that h;;s are i.i.d.
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e (d): follows from the fact |hi;|? is exponential.
e (e): follows from a simple Taylor series expansion.

EXERCISE 8.24. At high SNR, MMSE-SIC receiver is same as the decorrelator followed
by SIC. At high SNR, for the first stream, a decorrelator projects n, dimensional receive
vector along a sub-space orthogonal to n; — 1 other directions. Thus, the diversity seen
by the first stream will be n, — (n; — 1) = n, —n; + 1. Decoding of this stream in fact
will be bottleneck for all other streams. Thus, for each stream the diversity is given by
n, —n; + 1. However, for the kth stream, if all the previous streams have been decoded
correctly, then the diversity seen by the kth stream is given by n; —n;+k (projection of
n, dimensional vector onto a sub-space orthogonal to a n; — k dimensional sub-space).

EXERCISE 8.25. 1. From MMSE estimation of streams, we have
SNR|g:|> = h} (I/SNR+ hyh}) " h;.

Using the matrix inversion lemma we get:

SNRhyh}
2 = hj(I- =2 —|h
— Hh H2_ SNR||h>{h2H2
M T SNR|[hy |2
Now, consider:
[hypo| ||y o2
h 2 hy||? — ||y
! 1+ SNR|[hy]]2
> SNR[[hihy|]”
= h[[" - 5
1 + SNR]|hy||

which matches with the expression above for |g;|>. Thus, we have

[[buy o2
1 + SNR||hy||?

)? = [hice|*+

The fact that |gz|* = ||hy||? follows directly since the first symbol doesn’t see any
interference.

2. At high SNR, the second term is small with high probability, thus the marginal
distribution of |g;|? is same as ||hy12||?>. Now taking hy as a basis vector, we see
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that h; o is always orthogonal to a basis vector. Thus it is a projection of h;
onto one dimension. Thus, statistically it should be similar to simple complex
Gaussian. Note, that by circular symmetry of hy, the fact that hy is along a
random direction does not change the statistics. Since, ||[h; s|[? is exponential,

|g1|? is marginally exponential at high SNR. Moreover, we have:
2 2, |yl
— h B ——
|91| || 1L2|| + 1—|—SNR|92|27

where hy 9 and hyp are independent of |g,|. Thus, we see that |g;| and |go| are
negatively correlated.

3. The maximum diversity given by the parallel channel is same as the original
MIMO channel since the D-BLAST structure preserves mutual information and
hence the outage behavior. Thus, the total diversity is given by 4.

4. If |g1|* and |g2|* were independent with the same marginals, then the diversity
offered by |gi|* is 1 and that offered by |gs|* is 2. Thus, the total diversity is
given by 3.

EXERCISE 8.26. The coding scheme can be written as

0 0 g e ptmtY

1 2 . . )
01 pq(ztl—l Pﬁzt)—l - - 0
Py pw 0 0

where P*) = [pgk), cee p,(ﬁ)} are the independent data streams. The decoding can be
done using successive interference cancelation: estimate stream P*) one by one, then
jointly decode it and then estimate P**1) after canceling out P*),

EXERCISE 8.27. For an n; transmit antenna channel a D-BLAST scheme with block-
length T has a rate loss of:

nt—l
T

because a zero is sent on the first transmit antenna for the first n, — 1 time slots. So
instead of sending T streams, we send only 7' — (n; — 1) streams.



Chapter 9

Solutions to Exercises

EXERCISE 9.1.
EXERCISE 9.2.
EXERCISE 9.3.
EXERCISE 9.4.
EXERCISE 9.5.
EXERCISE 9.6.
EXERCISE 9.7.
EXERCISE 9.8.
EXERCISE 9.9.
EXERCISE 9.10.
EXERCISE 9.11.
EXERCISE 9.12.
EXERCISE 9.13.
EXERCISE 9.14.
EXERCISE 9.15.
EXERCISE 9.16.
EXERCISE 9.17.

EXERCISE 9.18.
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EXERCISE 9.19.
EXERCISE 9.20.
EXERCISE 9.21.
EXERCISE 9.22.
EXERCISE 9.23.
EXERCISE 9.24.

EXERCISE 9.25.



Chapter 10

Solutions to Exercises

EXERCISE 10.1.
EXERCISE 10.2.
EXERCISE 10.3.
EXERCISE 10.4.
EXERCISE 10.5.
EXERCISE 10.6.
EXERCISE 10.7.
EXERCISE 10.8.
EXERCISE 10.9.
EXERCISE 10.10.
EXERCISE 10.11.
EXERCISE 10.12.
EXERCISE 10.13.
EXERCISE 10.14.
EXERCISE 10.15.
EXERCISE 10.16.
EXERCISE 10.17.

EXERCISE 10.18.
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EXERCISE 10.19.
EXERCISE 10.20.
EXERCISE 10.21.
EXERCISE 10.22.
EXERCISE 10.23.
EXERCISE 10.24.

EXERCISE 10.25.



Appendix A

Solutions to Exercises

EXERCISE A.1. 1. n=1. Let A = w?, then using the formula for the density of a
function of a random variable, we get:

Ful/) | ful=/3)
20/ 2/a

\/;T—a exp (—a/2)

2. Let ®,(w) denote the characteristic function of ||w]||?>. Then since convolution
corresponds to multiplication of characteristic functions, we get

Cp(w) = Pi(w)"
= <I>2(w)"/2

B 1 n/2
01— 2jw ’

where the last step follows from the fact for n = 2, [|w||® is an exponential
random variable. Then, from this we see that

dq)n(W) . 1 n/2+1
d(jw) 1 —2jw
= nq)n+2 (W)

Since differentiation corresponds to multiplication in time domain, we get

furaa) = fua).

fila) =

3. Using simple recursion:
1 an/271

Vorl-3-(n—2)
126

exp(—a/2) for n odd
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an/271

2.4... (n — 2) exp(—a/2) for n even

fala) =

N

EXERCISE A.2. (2)M, is a linear transformation of a Gaussian process, so it has a
jointly Gaussian distribution, which is completely specified by the first and second
moments.

Elz] = E [ / h w(t)si(t)dt] _ / " Blw()]si(t)dt = 0

[e.o] [e.o]

Blas) = B[ [ [ uums s @ar

_ /_ " w%é(t—T)si(t)sj(T)dth

> Ny Ny
= /OO 781(7’)8j<7’)d7’ = 7(5@3‘

Therefore E[zz”] = (Ny/2)Iy; and z ~ N(0, (No/2)1).
EXERCISE A.3. For simplicity, let us assume that x is zero mean.

1. The covariance matrix, K, of x is given by

K = FE[xx’|
= E[R[x]+ jCX)(R[x]" - jC[x]")]
= ERKR[E]] + ECKICK]] - jE[RIXICX]] + jE[CxR[x]].

Similarly, the pseudo-covariance matrix of x is given by
J = E[RKXR[x]'] - ECKX|C[x]] + jE[R[X]C[x]'] + jE[C[x]R[x]'.

The covariance of matrix of [R[x],C[x]]" is given by

{E[R[X]R[X]t] E[R[X]C[X]t]] _ 1 [R(K+ J) C(J— K)} (A1)
E[Cx|R[x]'] EI[C[x]|C[x]"] 2 |C(K+J) R(K-—1J) '
2. For a circularly symmetric x, J = 0 and the covariance of matrix of [R[x], C[x]]*
is given by
{E[R[X]R[X]t] E[R[X]C[X]t]] _ 1 [R(K) —C(K)} (A.2)
ECKRK]  ElCX|CX]] 2 [C(K) R(K) '
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EXERCISE A.4. 1. Necessity of the two conditions is proved in appendix A. For
proving sufficiency, let y = e/x, then

Ely] = ¢"E[x]

0.

Then the pseudo-covariance of y is given by

Elyy'l = ¥’ E[xx']
0.

The covariance of y is given by

Elyy*] = ejaE[xx*]e_je
= Exx'].

Thus, y and x have the same second order statistic and hence have identical
distribution.

2. Since x is not given to be zero mean, the answer is no. But in addition if we
assume that x is zero mean, then from (A.1) and (A.2) we see that J must be
zero and hence x will be circularly symmetric.

EXERCISE A.5. Let x+ = x, + jz;. Then z, and x; are zero mean and are jointly
Gaussian. Since the pseudocovariance for a circularly symmetric Gaussian is zero, we
get

= E[2?] — E[z}] + 2§ E[z,7y.

Thus, E[z?] = E[z?] and E[z,z;] = 0. For jointly Gaussian random variables, uncor-
related implies independent. Also, since they are zero mean and have the same second
moment, z, and x; are i.i.d. random variables.

EXERCISE A.6. Let x be i.i.d. complex Gaussian with real and imaginary part dis-
tributed as N (0, K,). Then the covariance and pseudo-covariance of x is given by:

K = FE[xx'],
= (K(1,1) + K,(2,2))1,
J = Exx],

= (K.(1,1) = K.(2,2) + 2jK,(1,2))I.
Now, let y = Ux, then the covariance of y is given by

Elyy'] = UExx']U"
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= (K.(1,1) + K,(2,2))L
The pseudo-covariance of y is given by

Elyy'] = UE[x'TU'
= (K,(1,1) — K.(2,2) + 2jK,(1,2))UU"

Since for general U, UU’ cannot be identity, we get K, (1,1) = K,(2,2) and K,(1,2) =
0. That is, x should be circularly symmetric.

EXERCISE A.7. The ML decision rule is given through the likelihood ratio which is

Plylr=1)  P,(y —h)

Pyl = —1) P,(y +h)’

-1 ]P)zi (yl - hl)7

where z;,y; and h; are two dimensional vectors with entries as the real and complex
parts of the ¢th entry of z,y and h respectively. Now,

P, (yi —hi) _ exp(=(yi — h)'K ' (y; — hy)/2)
Py, (y: — hy) exp (— (Yz+h)tK Yyi +hi)/2)
, = exp (—(WK 'y + yiK; hy)/2)

= exp( h!K yi).

Thus, the likelihood ratio can be written as

exp <— Z hﬁK;lyi) .
i=1

Note that . hfy; = h*y. Thus for the likelihood ratio to be a function of only h*y,
we need that every h; should be a right-eigenvector of K1 with the same eigenvalue.
Note that this condition is trivially satisfied if K, is a scalar multiple of the identity
matrix.

EXERCISE A.8. 1. z~N(0,0%L,). Let Hy={z =1} and H,; = {x = —1}. Then,
ply | Ho) = Kexp(—|y —h|*/(20%))
p(y | Hi) = Kexp(—|y+h[*/(207))

(
(
LLR(y) = tog | B — Ty + [P - 2¥h — IyI? ] ~ 25"
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H=0
2 p00>

H=1

This last expression is the ML detection rule. Therefore y'h is a sufficient
statistic.

P, = P(y'h>0|z=—-1)=P[(~h+2z)"h > 0] = P(h"z > ||h|]?)

) -o(2)

where we have used the fact that £ [% ﬂTTﬂ = o2,

We see that P, is minimized by choosing any h such that ||h|| = 1. In this case
P, = Q(l/U)

2. z ~ N(0,K,), with non-singular K,. Let Hy = {x = 1} and H, = {x = —1}.
Then,
p(y | Ho) = Kexp[—(y —h)"K ' (y —h)/2]
py | Hi) = Kexp[—(y+h)'K ' (y +h)/2]

o - e 32
H

—

] = yTKz_lh + hTKz_ly

=0
0

This last expression is the ML detection rule. Therefore y? K 'h is a sufficient
statistic.

P, = Py'K;'h>0|2x=-1)=P[(~h+2)"K;'h > 0] = P(z"K_'h > h"K_'h)

Tyr—1
- p (% > MhTK;lh) —Q (\/hTK;Ih)
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We see that P, is minimized by choosing h to be the norm one eigenvector of K;!
associated with its maximum eigenvalue, which is the norm one eigenvector of

K. associated with its minimum eigenvalue \,,;,. In this case P, = @) (\/ )\;ﬁn)

This choice of h makes the signal of interest hx lie in the direction where the
noise is smallest, maximizing the signal to noise ratio in the received signal y.

3. If K, is singular then the noise vector z lies in a proper subspace of R™ which
we call S. Then letting S* be the orthogonal subspace associated to S, we can
choose h € S*, project onto this direction, and obtain a noise-free sufficient
statistic of x. The corresponding probability of error is 0.



Appendix B

Solutions to Exercises

EXERCISE B.1.

EXERCISE B.2. 1. f(x) is concave if for any A € [0, 1]:
(1) + (1= N f(2) < fhan + (1= N (B.1)
for all 21,29 € Dom(f).
2. Jensen’s inequality: for a random variable X and a concave function f(-):
Elf(X)] < fIEX)] (B.2)
Proof by picure:
®

f(x3)

x1 x2=ElX1 x3

Figure B.1: Example of Jensen’s inequality for a discrete random variable that takes only 3 values
with equal probability and a concave function f(-).
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3.
HX)-HXY) = I(X;Y)=) plz,y) logz%
= =) plx,y)log ]Sfxp;z)/) (B.3)
_— lzp " y>p]§2p§§)] (B.4)
= —logl :7y

where the inequality follows from Jensen’s inequality and the convexity of — log(-).
We have equality iff p(x)p(y) = p(z,y) for all z,y, i.e. X and Y are independent.

For the required example consider X|y = 0 ~ Bernoulli(1/2), Xy = 1 ~
Bernoulli(0) and Y ~ Bernoulli(1/2). It is easy to check that X ~ Bernoulli(1/4)
and we can compute the different entropies. H(X) = H(1/4) = 0.811, H(X|y =
0) = H(1/2) = 1, HX|y = 1) = 0, and H(X[|Y) = (1/2)H(X|y = 0) +
(1/2)H(X|y = 1) = 1/2, where we used H(p) to denote the entropy of a
Bernoulli(p) random variable. We see that H(X|y = 0) > H(X) but H(X|Y) <
H(X) in agreement with the inequality that we just proved.

EXERCISE B.3.
EXERCISE B.4.
EXERCISE B.5.
EXERCISE B.6.
EXERCISE B.7.
EXERCISE B.8.
EXERCISE B.9.
EXERCISE B.10.
EXERCISE B.11.

EXERCISE B.12.



